
CHEMISTRY

BOOKS - BEYOND PUBLICATION

CARBON AND ITS COMPOUNDS

Example

1. Name the simplest hydrocarbon.

Watch Video Solution

2. Write the simplest hydrocarbon.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Kc4DhkNU7wIg
https://dl.doubtnut.com/l/_7IchEvCnJQ2v


3. What are the general molecular formulae of alkanes, alkenes and

alkynes?

Watch Video Solution

4. What are the general molecular formulae of alkanes, alkenes and

alkynes?

Watch Video Solution

5. Name the carboxylic acid used as preservation.

Watch Video Solution

6. Which acid is used as a preservative ?

Watch Video Solution

https://dl.doubtnut.com/l/_IdM2C8PsYUw6
https://dl.doubtnut.com/l/_aCShYrXqH1EV
https://dl.doubtnut.com/l/_s7GIMqHG8uly
https://dl.doubtnut.com/l/_OcaTWUN7KxCy
https://dl.doubtnut.com/l/_YNTkPK2wWsil


7. Name the product other than water formed on burning of ethanol in

air.

Watch Video Solution

8. Which gas is produced along with water, when ethnol is burned in air ?

Watch Video Solution

9. A mixture of oxygen and ethyne is burnt for welding. Can you tell why a

mixture of ethyne and air is not used ?

Watch Video Solution

10. What is the reason for not using the mixture of ethyne and air for

welding ?

Watch Video Solution

https://dl.doubtnut.com/l/_YNTkPK2wWsil
https://dl.doubtnut.com/l/_mE5RagImmbFu
https://dl.doubtnut.com/l/_GuLFQKJ9iH3u
https://dl.doubtnut.com/l/_cvUzGWpb0wLJ


11. Name the simplest ketone and write it's molecular formula.

Watch Video Solution

12. Write the Simplest ketone with its molecular formula.

Watch Video Solution

13. What do we call the self linking property of carbon?

Watch Video Solution

14. Name the compound formed by heating ethanol at 443K with excess

of conc. .

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_cvUzGWpb0wLJ
https://dl.doubtnut.com/l/_dLoOsRJ1MfTW
https://dl.doubtnut.com/l/_So5Lxzqmhk38
https://dl.doubtnut.com/l/_En5o9O6eUZ7T
https://dl.doubtnut.com/l/_h1YW4cphpJWq
https://dl.doubtnut.com/l/_I2Rp9IJ554eQ


15. Name the compound formed by heating ethanol at 443K with excess

of conc. .

Watch Video Solution

H2SO4

16. What is the compound formed when ethyl alcohol (Ethanol) is

dehydrated ? Write the chemical equation of the reaction.

Watch Video Solution

17. Give an example for esterification reaction.

Watch Video Solution

18. Write a short note on esterification reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_I2Rp9IJ554eQ
https://dl.doubtnut.com/l/_eLJNu5e8t1GO
https://dl.doubtnut.com/l/_9M8t6gsXt7D0
https://dl.doubtnut.com/l/_TogN39cohObt
https://dl.doubtnut.com/l/_b7kOmGh7Vh9k


19. Name the product obtained when ethanol is oxidized by either

chromic anhydride Or alkaline potassium permanganate.

Watch Video Solution

20. If the ethanol is oxidized by either chromic anhydride or alkaline

potassium permanganate, what is the product obtained from them ?

Watch Video Solution

21. Write the chemical equation representing the reacting of preparation

of ethanol from ethane.

Watch Video Solution

22. Write the chemical equation representing the reacting of preparation

of ethanol from ethane.

Watch Video Solution

https://dl.doubtnut.com/l/_b7kOmGh7Vh9k
https://dl.doubtnut.com/l/_p7twLb8npA9A
https://dl.doubtnut.com/l/_JFR6gK7oPh7m
https://dl.doubtnut.com/l/_uUREgl9IqcvS


23. What are homologous series of carbon compounds? Mention any two

characteristics of homologous series.

Watch Video Solution

24. What are homologous series of carbon compounds? Mention any two

characteristics of homologous series.

Watch Video Solution

25. Give the names of functional groups. 

- CHO 

- C = O

Watch Video Solution

https://dl.doubtnut.com/l/_uUREgl9IqcvS
https://dl.doubtnut.com/l/_mssrfbWPmQkg
https://dl.doubtnut.com/l/_q7NknzLL4qIM
https://dl.doubtnut.com/l/_wkTIzmLqqmgL


26. Write the names of the given functional groups 

- CHO 

- C = O.

Watch Video Solution

27. Why does carbon form compounds mainly by covalent bonding?

Watch Video Solution

28. Explain the sodium ethoxide is obtained from ethanol. Give chemical

equations.

Watch Video Solution

29. Explain the cleansing action of soaps.

Watch Video Solution

https://dl.doubtnut.com/l/_2jp9YfHM3qok
https://dl.doubtnut.com/l/_ws8TQOOpF4tR
https://dl.doubtnut.com/l/_yA7eizZgorwZ
https://dl.doubtnut.com/l/_LPLyoFxIgtQH


30. Distinguish between esterification and saponification reactions of

organic compounds.

Watch Video Solution

31. Write the differences between esterification and saponification

reactions of organic compounds.

Watch Video Solution

32. Explain the structure of graphite in terms of bonding and give one

property based on this structure.

Watch Video Solution

33. Name the acid present in vinegar.

W h Vid S l i

https://dl.doubtnut.com/l/_LPLyoFxIgtQH
https://dl.doubtnut.com/l/_QCz4QDRjeBWI
https://dl.doubtnut.com/l/_5DQftaBBAurc
https://dl.doubtnut.com/l/_NCPkN6RUVF0C
https://dl.doubtnut.com/l/_skc5hmX5tM75


Watch Video Solution

34. What happens when a small piece of sodium is dropped into ethanol?

Watch Video Solution

35. What happens when a small piece of sodium is dropped into ethanol?

Watch Video Solution

36. Draw the electronic dot structure of ethane molecule( ).

Watch Video Solution

C2H6

37. How do you appreciate the role of carbon in everyday life ?

Watch Video Solution

https://dl.doubtnut.com/l/_skc5hmX5tM75
https://dl.doubtnut.com/l/_pUcwVFNcQfTs
https://dl.doubtnut.com/l/_IRlMj362lIY7
https://dl.doubtnut.com/l/_zCVDMzSLcOGP
https://dl.doubtnut.com/l/_2URNSaYM1WgW
https://dl.doubtnut.com/l/_0eSsTBI7Iz4i


38. Give the IUPAC name of the following compounds. If more than one

compound is possible name atleast two of them 

An aldehyde derived from ethane

Watch Video Solution

39. Give the IUPAC name of the following compounds. If more than one

compound is possible name atleast two of them 

A ketone derived from butane.

Watch Video Solution

40. Give the IUPAC name of the following compounds. If more than one

compound is possible name atleast two of them 

A chloride derived from propane.

Watch Video Solution

https://dl.doubtnut.com/l/_0eSsTBI7Iz4i
https://dl.doubtnut.com/l/_MEEakUtwl2e2
https://dl.doubtnut.com/l/_ypIhfdpMV5PU


41. Give the IUPAC name of the following compounds. If more than one

compound is possible name atleast two of them 

An alcohol derived from pentane.

Watch Video Solution

42. Explain with the help of a chemical equation, how an addition reaction

is used in vegetable ghee industry.

Watch Video Solution

43. How is hydrogenation used in vegetable ghee industry? Explain with

chemical equation.

Watch Video Solution

https://dl.doubtnut.com/l/_tYxVuZsIt5Jm
https://dl.doubtnut.com/l/_ie3RlNLrckDz
https://dl.doubtnut.com/l/_aRZ2dnRHBEUt


44. What are the general molecular formulae of alkanes, alkenes and

alkynes?

Watch Video Solution

45. Write the IUPAC names of three cresols

Watch Video Solution

46. Write the IUPAC name of the next higher homologue of

Watch Video Solution

CH2OHCH2CH3

47. Allotropy is a property shown by which class of substances:elements,

compounds or mixtures? Explain allotropy with suitable examples.

Watch Video Solution

https://dl.doubtnut.com/l/_b3nzB69lBEzK
https://dl.doubtnut.com/l/_QrNpJ9ZBlKba
https://dl.doubtnut.com/l/_uYDI4IUdVLnC
https://dl.doubtnut.com/l/_6bQnszpUG9bS


48. Explain the chemical equation how ethanoic acid is obtained from

ethanal.

Watch Video Solution

49. Two carbon compounds A and B have molecular formulae  and 

 respectively. Which one of the two is most likely to undergo

addition reactions? Justify your answer.

Watch Video Solution

C3H8

C3H6

50. How do you condemn the use of alcohol as a social practice?

Watch Video Solution

https://dl.doubtnut.com/l/_6bQnszpUG9bS
https://dl.doubtnut.com/l/_A6TStAKKKUE2
https://dl.doubtnut.com/l/_QOrmmMY3oG0T
https://dl.doubtnut.com/l/_MRf6mO2KcNUr


51. In which type of development will you take to oppose the use of

alcohol as a social practise ?

Watch Video Solution

52. An organic compound with molecular formula  produces brisk

effervescence on addition of sodium carbonate / bicarbonate. Answer the

following : Identify the organic compound.

Watch Video Solution

C2H4O2

53. An organic compound with molecular formula  produces brisk

effervescence on addition of sodium carbonate / bicarbonate. Answer the

following : Write the chemical equation for the above reaction.

Watch Video Solution

C2H4O2

https://dl.doubtnut.com/l/_MRWNPZOOKgdC
https://dl.doubtnut.com/l/_eRw5wyalB8By
https://dl.doubtnut.com/l/_rVbFI4PYY1TU


54. An organic compound with molecular formula  produces

brisk effervescence on addition of sodium carbonate / bicarbonate.

Answer the following : Name the gas evolved.

Watch Video Solution

C2H4O2

55. An organic compound with molecular formula  produces brisk

effervescence on addition of sodium carbonate / bicarbonate. Answer the

following : How will you test the gas evolved?

Watch Video Solution

C2H4O2

56. An organic compound with molecular formula  produces brisk

effervescence on addition of sodium carbonate / bicarbonate. Answer the

following : List two important uses of the above compound.

Watch Video Solution

C2H4O2

https://dl.doubtnut.com/l/_HAs8XNUTCrm0
https://dl.doubtnut.com/l/_e9tUmHE1Dn4X
https://dl.doubtnut.com/l/_dSQlMSbd0mj1
https://dl.doubtnut.com/l/_ciXctk7bI9v0


57. An organic compound with molecular formula  produces brisk

effervescence on addition of sodium carbonate / bicarbonate. Answer the

following : Identify the organic compound.

Watch Video Solution

C2H4O2

58. 1ml of glacial acetic acid and. 1ml of ethanol are mixed together in a

test tube. Few drops of concentrated sulphuric acid is added in the

mixture are warmed in a water bath for 5 min. Answer the following : 

Name the resultant compound formed.

Watch Video Solution

59. 1 ml glacial acetic acid and 1 ml of ethanol are mixed together in a test

tube. Few drops of concentrated sulphuric acid is added to the mixture

and warmed in a water bath for 5 min. Represent the above change by a

chemical equation.

Watch Video Solution

https://dl.doubtnut.com/l/_ciXctk7bI9v0
https://dl.doubtnut.com/l/_82Ia212Ym9Pa
https://dl.doubtnut.com/l/_g6lDOJRMSxxV


60. 1 ml of glacial acetic acid and 1 ml of ethanol are mixed together in a

test tube. Few drops of concentrated sulphuric acid is added to the

mixture and warmed in a water bath for 5min.answer the question:What

name is given to such a reaction?

Watch Video Solution

61. 1 ml of glacial acetic acid and 1 ml of ethanol are mixed together in a

test tube. Few drops of concentrated sulphuric acid is added to the

mixture and warmed in a water bath for 5min.answer the question:What

are the special characteristics of the compound formed?

Watch Video Solution

62. Suggest a test to find the hardness of water and explain the

procedure.

Watch Video Solution

https://dl.doubtnut.com/l/_g6lDOJRMSxxV
https://dl.doubtnut.com/l/_MIb0lEsDZpSH
https://dl.doubtnut.com/l/_9leH8sF1ImhZ
https://dl.doubtnut.com/l/_SkOValwtNx2Z


63. How do test a given water sample is soft or hard ?

Watch Video Solution

64. Suggest a chemical test to distinguish between ethanol and ethanoic

acid and explain procedure.

Watch Video Solution

65. On which justificiation we can distinguish between ethanol and

ethanoic acid explain.

Watch Video Solution

66. An organic compound 'X' with a molecular formula  undergoes

oxidation with alkaline  and forms the compound 'Y', that has

C2H6O

KMnO4

https://dl.doubtnut.com/l/_SkOValwtNx2Z
https://dl.doubtnut.com/l/_KQoXELtgIqs8
https://dl.doubtnut.com/l/_IciGWHtdy0X5
https://dl.doubtnut.com/l/_EaneRsN51qLO
https://dl.doubtnut.com/l/_iUzNs0MkzSgv


molecular formula .Identify "X" and "Y".

Watch Video Solution

C2H4O2

67. An organic compound 'X' with a molecular formula  undergoes

oxidation with alkaline  and forms the compound 'Y', that has

molecular formula : Write your observation regarding the

product when compound 'X' is made to react with compound "Y" Which is

used as a preservative for pickles.

Watch Video Solution

C2H6O

KMnO4

C2H4O2

68. Prepare models of methane, ethane, ethene and ethyne molecules

using clay balls and matchsticks.

Watch Video Solution

https://dl.doubtnut.com/l/_iUzNs0MkzSgv
https://dl.doubtnut.com/l/_LB6aZbHA6prm
https://dl.doubtnut.com/l/_tmWMWFv7je23


69. Collect information on the process of artificial ripening of fruits in

fruit markets and discuss whether it is useful or harmful.

Watch Video Solution

70. Collect information on the process of artificial ripening of fruits in

fruit markets and discuss whether it is useful or harmful.

Watch Video Solution

71. Can carbon get helium configuration by losing four electrons from the

outer shell?

Watch Video Solution

72. How do carbon atoms form bonds in so many ways

Watch Video Solution

https://dl.doubtnut.com/l/_Zzj5WKflgAs5
https://dl.doubtnut.com/l/_5PQMkPh8eYE0
https://dl.doubtnut.com/l/_ePsdc3kY2MDr
https://dl.doubtnut.com/l/_xGP7oUEQzxkU


73. Explain the four unpaired electrons in carbon atom through excited

state.

Watch Video Solution

74. Where this energy to excited electron comes from?

Watch Video Solution

75. In methane( ) molecule all four carbon-hydrogen bonds are

identical and bond angle  is 109.28.how can we explain this?

Watch Video Solution

CH4

HĈH

76. How these energetically unequal valence electrons form four

equivalent covalent bonds in methane molecule?

W h Vid S l i

https://dl.doubtnut.com/l/_xGP7oUEQzxkU
https://dl.doubtnut.com/l/_hWXXP1hqrJFt
https://dl.doubtnut.com/l/_mWBie833CzHJ
https://dl.doubtnut.com/l/_B6uEgoSZw3jR
https://dl.doubtnut.com/l/_bAPSSuG7irbK


Watch Video Solution

77. Define Hybridization.

Watch Video Solution

78. What are bond angles of  in ,  and  molecules?

Watch Video Solution

HCH CH4 C2H4 C2H2

79. How do you understand the marking(writings) of a pencil on a paper?

Watch Video Solution

80. Allotting completely one special branch in chemistry to compounds of

only one element. Is it justified when there are so many elements and

their compounds but not with any special branches?

Watch Video Solution

https://dl.doubtnut.com/l/_bAPSSuG7irbK
https://dl.doubtnut.com/l/_YZk6SCoiLLzx
https://dl.doubtnut.com/l/_KUsHMGRia7Zy
https://dl.doubtnut.com/l/_vnAunhHuVNiw
https://dl.doubtnut.com/l/_tmJHMlghjUFx


Watch Video Solution

81. What are hydrocarbons?

Watch Video Solution

82. Do all the organic compounds have equal number of 'C' and 'H' atoms?

Watch Video Solution

83. Can carbon form bonds with the atoms of other elements?

Watch Video Solution

84. In the following two structures the relationship is....

Watch Video Solution

https://dl.doubtnut.com/l/_tmJHMlghjUFx
https://dl.doubtnut.com/l/_qnED8bWYGWtv
https://dl.doubtnut.com/l/_G9thCUuvNoHF
https://dl.doubtnut.com/l/_PVz7Nfl5IPz3
https://dl.doubtnut.com/l/_buD4xWboYGCC
https://dl.doubtnut.com/l/_84Z3egn6WehS


85. How about their structures ? Are they same ?

Watch Video Solution

86. How many carbon and hydrogen atoms are there in (a) ethane and (b)

propane ?

Watch Video Solution

87. Write the condensed molecular formulae for (a) and (b) Do they have

same molecular formulae ?

Watch Video Solution

88. Can we write the structure of a compound if the name of the

compound is given ?

Watch Video Solution

https://dl.doubtnut.com/l/_84Z3egn6WehS
https://dl.doubtnut.com/l/_1OkDznhhcuiy
https://dl.doubtnut.com/l/_IXmlzYaEcCSU
https://dl.doubtnut.com/l/_xvqs8qbenadX


89. Why do sometimes cooking vessels get blackened on a gas or

kerosene stove?

Watch Video Solution

90. Do you know what is a catalyst ?

Watch Video Solution

91. Do you know how the police detect whether suspected drivers have

consumed alcohol or not?

Watch Video Solution

92. What are esters?

Watch Video Solution

https://dl.doubtnut.com/l/_sdmvyMHHScz6
https://dl.doubtnut.com/l/_me8pEuuPaSeM
https://dl.doubtnut.com/l/_bWqaSsu6mVzA
https://dl.doubtnut.com/l/_gxjN7v2ItJx9
https://dl.doubtnut.com/l/_lGrtk5Je9A0o


93. Whenever you buy clothes or ready made garments observe the brand

label. What do you notice ?What do you see ?

Watch Video Solution

94. Do you know what 'soap' is?

Watch Video Solution

95. What is a true solution?

Watch Video Solution

96. Do you know what 'soap' is?

Watch Video Solution

https://dl.doubtnut.com/l/_lGrtk5Je9A0o
https://dl.doubtnut.com/l/_qK1e148EIUF4
https://dl.doubtnut.com/l/_fC9rBS0GDFbQ
https://dl.doubtnut.com/l/_JEE691P2KVWj


97. Can you see the oil and water layers separately in both the test tubes.

Watch Video Solution

98. Can you see the oil and water layers separately in both the test tubes.

Watch Video Solution

99. Can you see the oil and water layers separately in both the test tubes.

Watch Video Solution

100. What is the action of soap particles on the greasy cloth?

Watch Video Solution

101. Write an activity to show esterification.

https://dl.doubtnut.com/l/_hHuccgAeZ89A
https://dl.doubtnut.com/l/_AZKk7E26TXRm
https://dl.doubtnut.com/l/_o8MC3vyDIG81
https://dl.doubtnut.com/l/_cgdxwbrwXTxO
https://dl.doubtnut.com/l/_4UpFG6YjXamg


Watch Video Solution

102. Write an activity to show soap solution separates oil from water.

Watch Video Solution

103. Why we are advised not to use animal fats for cooking?

Watch Video Solution

104. Which oil is recommended for cooking? Why?

Watch Video Solution

105. Valency of carbon is ………..

Watch Video Solution

https://dl.doubtnut.com/l/_4UpFG6YjXamg
https://dl.doubtnut.com/l/_N3xjKGrtCtoH
https://dl.doubtnut.com/l/_4NzERk40gm85
https://dl.doubtnut.com/l/_CFTUoph86wHU
https://dl.doubtnut.com/l/_mXDlv5kMkeZW
https://dl.doubtnut.com/l/_i1D4t2E3s0su


106. The bond angle in methane molecule

Watch Video Solution

107. Structure of the complex with  hybridisation

Watch Video Solution

sp3

108. Name the element which is example for triple. Bond.

Watch Video Solution

109. Which allotropic form of carbon has layered structure ?

Watch Video Solution

110. Which of the following has a foot-ball like structure?

https://dl.doubtnut.com/l/_i1D4t2E3s0su
https://dl.doubtnut.com/l/_nuCgGP7u6gUH
https://dl.doubtnut.com/l/_cdQuEovMFcnJ
https://dl.doubtnut.com/l/_Ewi8UcOH5rqz
https://dl.doubtnut.com/l/_pcQPpVoOHery


Watch Video Solution

111. Nanotubes were discovered by

Watch Video Solution

112. Name the property in which bonds among its own atoms to give big

molecules.

Watch Video Solution

113. What are the compounds of carbon and hydrogen ?

Watch Video Solution

114. A spherical aggregate of soap molecules in water is called

Watch Video Solution

https://dl.doubtnut.com/l/_pcQPpVoOHery
https://dl.doubtnut.com/l/_pAKgORYl5tkT
https://dl.doubtnut.com/l/_qHRLd4X1TQio
https://dl.doubtnut.com/l/_dWUbkefLYeai
https://dl.doubtnut.com/l/_j1aS8F9mncu4


115. Write a note on the allotrophy of carbon.

Watch Video Solution

116. Explain briefly about the structure of 'Diamond'?

Watch Video Solution

117. Explain briefly about the structure of 'Graphite'?

Watch Video Solution

118. "Diamond is an extremely bad conductor of electricity. " Why?

Watch Video Solution

https://dl.doubtnut.com/l/_j1aS8F9mncu4
https://dl.doubtnut.com/l/_mSeNxQyHhqsn
https://dl.doubtnut.com/l/_7mXqHvxvRdTy
https://dl.doubtnut.com/l/_yfHWL7qXJMNB
https://dl.doubtnut.com/l/_J66BU1nv7LtG


119. What is catenation? Give an example. 

Watch Video Solution

120. What is an alkyl group?

Watch Video Solution

121. What is the bond length in diamond?

Watch Video Solution

122. What is polymerization? Explain with one example.

Watch Video Solution

123. Name some functional groups.

https://dl.doubtnut.com/l/_b8QGJfetORM9
https://dl.doubtnut.com/l/_oj6Hp7f4A7c0
https://dl.doubtnut.com/l/_E5OQLcSSRu5k
https://dl.doubtnut.com/l/_7mbO917Hj9J8
https://dl.doubtnut.com/l/_OiwnntZOj7Ge


Watch Video Solution

124. What is the bond angle in diamond?

Watch Video Solution

125. What is the  bond length in graphite?

Watch Video Solution

C − C

126. What is the bond angle in graphite ?

Watch Video Solution

127. Define Isomerism.

Watch Video Solution

https://dl.doubtnut.com/l/_OiwnntZOj7Ge
https://dl.doubtnut.com/l/_Hlbt1l07ogkm
https://dl.doubtnut.com/l/_bzTEhs29sSjI
https://dl.doubtnut.com/l/_L0cFDnZSEmN4
https://dl.doubtnut.com/l/_31q5grumtI6M
https://dl.doubtnut.com/l/_vV9gJdkKs3qw


128. What is hydrocarbon?

Watch Video Solution

129. What are saturated hydrocarbons?

Watch Video Solution

130. What are alkanes

Watch Video Solution

131. What are unsaturated hydrocarbons?

Watch Video Solution

132. What are alkenes ?

https://dl.doubtnut.com/l/_vV9gJdkKs3qw
https://dl.doubtnut.com/l/_WPb8qgM4Zcsj
https://dl.doubtnut.com/l/_Y8axosCeD6i9
https://dl.doubtnut.com/l/_Vsl9jJv9E5vj
https://dl.doubtnut.com/l/_pCzlXn3exhII


Watch Video Solution

133. What are alkynes?

Watch Video Solution

134. What is Homologous series ?

Watch Video Solution

135. What is organic chemistry ?

Watch Video Solution

136. What is halogenation ?

Watch Video Solution

https://dl.doubtnut.com/l/_pCzlXn3exhII
https://dl.doubtnut.com/l/_fhRp0LjZn8Ip
https://dl.doubtnut.com/l/_K5ciG1XSItsA
https://dl.doubtnut.com/l/_JJGqGotFEF61
https://dl.doubtnut.com/l/_E13HvQkSVp9m
https://dl.doubtnut.com/l/_Va2PJxlSwvqA


137. Diamond is a bad conductor of heat'.Why ?

Watch Video Solution

138. What is 'cleavage'?

Watch Video Solution

139. "Diamond is the hardest natural substance but is brittle". Why ?

Watch Video Solution

140.   Write the importance of "Graph" in finding the refractive index of

prism.

Watch Video Solution

https://dl.doubtnut.com/l/_Va2PJxlSwvqA
https://dl.doubtnut.com/l/_q7HlRCdQBDu8
https://dl.doubtnut.com/l/_xgnXmgzhOZbw
https://dl.doubtnut.com/l/_AqxbBJBK8x4Q


141. What do you mean by a functional group?

Watch Video Solution

142. What is the density of diamond ?

Watch Video Solution

143. What is the refracitve index  of diamond ?

Watch Video Solution

(μ)

144. What is the distance between any two adjacent layers in graphite ?

Watch Video Solution

145. How many rings are there in buckminster fullerene ?

https://dl.doubtnut.com/l/_8vpGEORkG4X7
https://dl.doubtnut.com/l/_6GVAuDd7FjIy
https://dl.doubtnut.com/l/_fllwmbHksoq5
https://dl.doubtnut.com/l/_Hq7qz1yiGyam
https://dl.doubtnut.com/l/_1jvMXK0gt4vY


Watch Video Solution

146. What is C - C bond length in  ?

Watch Video Solution

C60

147. What is pyrolysis? Give one example.

Watch Video Solution

148. Give example for homolgous series.

Watch Video Solution

149. Mention the natural sources of carbon compounds.

Watch Video Solution

https://dl.doubtnut.com/l/_1jvMXK0gt4vY
https://dl.doubtnut.com/l/_KYZunKL2ikHQ
https://dl.doubtnut.com/l/_Nyy9u2eHXxSR
https://dl.doubtnut.com/l/_8UKCOrNuOfKV
https://dl.doubtnut.com/l/_4JtB4GvupIz0
https://dl.doubtnut.com/l/_mGmImLaBQfpw


150. Explain about methanol (or) methyl alcohol.

Watch Video Solution

151. How do you appreciate the role of diamond in space probes ?

Watch Video Solution

152. How do you appreciate the role of diamond in surgery ?

Watch Video Solution

153. How do you appreciate the role of acetic acid as a preservative?

Watch Video Solution

154. How do you detect leakage in the cylinder ?

https://dl.doubtnut.com/l/_mGmImLaBQfpw
https://dl.doubtnut.com/l/_1dNHvxd6j96z
https://dl.doubtnut.com/l/_tSJj38NS8QWa
https://dl.doubtnut.com/l/_GBQ5j1p9TitN
https://dl.doubtnut.com/l/_yPG2bH9lWCjI


Watch Video Solution

155. What is the position of carbon in periodic table ?

Watch Video Solution

156. What is hybridisation?

Watch Video Solution

157. Draw the diagram showing  - s overlap in Methane.

Watch Video Solution

sp3

158. Define allotropy.

Watch Video Solution

https://dl.doubtnut.com/l/_yPG2bH9lWCjI
https://dl.doubtnut.com/l/_xsgpkaWc3cco
https://dl.doubtnut.com/l/_tLGEE3JtxHTf
https://dl.doubtnut.com/l/_hgwIHOJtla4t
https://dl.doubtnut.com/l/_x54975Yff5hz
https://dl.doubtnut.com/l/_bcHcfq8rkP0Y


159. What are the amorphous forms of carbon allotropes ?

Watch Video Solution

160. Name some crystalline forms of allotropes of carbon.

Watch Video Solution

161. What do you call the property of carbon to form long chains ?

Watch Video Solution

162. Why carbon is versatile element in nature?

Watch Video Solution

163. What are hydrocarbons?

https://dl.doubtnut.com/l/_bcHcfq8rkP0Y
https://dl.doubtnut.com/l/_sENY4wncrWBj
https://dl.doubtnut.com/l/_PlsoYJs8gw2P
https://dl.doubtnut.com/l/_XQMUwOJyF2tt
https://dl.doubtnut.com/l/_BaNs2Smyy48R


Watch Video Solution

164. Give one example for straight chain compound.

Watch Video Solution

165. Give an example for branched chain compound.

Watch Video Solution

166. The formula of a hydrocarbon is  Name the family to which it

belongs and also predicts its nature.

Watch Video Solution

C12H24

167. What do you mean by a functional group?

Watch Video Solution

https://dl.doubtnut.com/l/_BaNs2Smyy48R
https://dl.doubtnut.com/l/_NoPS3ux2qAOy
https://dl.doubtnut.com/l/_Vvd8y4cXzSQC
https://dl.doubtnut.com/l/_mdDUdiUWel4b
https://dl.doubtnut.com/l/_zKdz1n4mXxGX


168. What is the difference between two successive homologs?

Watch Video Solution

169. Write the structure of 3-bromo-2-chloro-5 oxo hexanoic acid.

Watch Video Solution

170. What is saponification?

Watch Video Solution

171. What is a micelle? Give an example of micelle formation.

Watch Video Solution

https://dl.doubtnut.com/l/_zKdz1n4mXxGX
https://dl.doubtnut.com/l/_GLLtdPo3MQsI
https://dl.doubtnut.com/l/_0q9UYingGVT9
https://dl.doubtnut.com/l/_6rUUV6Y5tYLT
https://dl.doubtnut.com/l/_0QAQOVg3u7d0


172. What is a soap ?

Watch Video Solution

173. Draw the shape of methance molecule

Watch Video Solution

174. Define Isomerism.

Watch Video Solution

175. How do you appreciate the role of oxygen in combustion process?

Watch Video Solution

https://dl.doubtnut.com/l/_EODFHrWT0FwJ
https://dl.doubtnut.com/l/_2qsxfLQ3PDbk
https://dl.doubtnut.com/l/_tx4ZLSC9NLky
https://dl.doubtnut.com/l/_jkF2KSc9qZgr


176. Gasohol is a godd motor fuel which reduces upto 30% carbon

monoxide emission. Give the composition of Gasohol.

Watch Video Solution

177. Identify the compounds those contain double bond

.

Watch Video Solution

C5H8, C5H10, C6H12

178.  is an addition reaction. 


 Predict and write the products.

Watch Video Solution

CH2 = CH2 + H2Ni
−→

CH3 − CH3

CH ≡ CH + H2Ni
−→

?

179. Give example for homologous organs.

Watch Video Solution

https://dl.doubtnut.com/l/_nqVfkvnTxdHT
https://dl.doubtnut.com/l/_BR86tP7r2CMY
https://dl.doubtnut.com/l/_skOgyxh92qYJ
https://dl.doubtnut.com/l/_6y4aXJC7ZAl9


180. What are nanotubes?

Watch Video Solution

181. Do you know what is a catalyst ?

Watch Video Solution

182. Why oils are in liquids at room temperature?

Watch Video Solution

183. Why fats are solids at room temperature ?

Watch Video Solution

https://dl.doubtnut.com/l/_6y4aXJC7ZAl9
https://dl.doubtnut.com/l/_JEjwfSEzKVZg
https://dl.doubtnut.com/l/_gAIwnxlagMqa
https://dl.doubtnut.com/l/_5M6DWtP8HPFa
https://dl.doubtnut.com/l/_q8iBBIHVnKR3


184. Do you know how the police detect whether suspected drivers have

consumed alcohol or not?

Watch Video Solution

185. What is 

Watch Video Solution

pka

186. Name the gas evolved when acetic acid is react with sodium

hydrogen carbonate.

Watch Video Solution

187. Name the organic acid present in vinegar-write it's chemical formula.

Watch Video Solution

https://dl.doubtnut.com/l/_OqDGyWjjvGyn
https://dl.doubtnut.com/l/_qcv22PJKmZEM
https://dl.doubtnut.com/l/_RWyqbF0Ylc8V
https://dl.doubtnut.com/l/_NvxpihMNaFJm
https://dl.doubtnut.com/l/_IveETYVQ6D9Z


188. Write the valency of carbon in ,  and 

?

Watch Video Solution

CH3 − CH3 CH2 = CH2

HC ≅CH

189. Out of butter and ground nut oil which is unsaturated in nature?

Watch Video Solution

190. What are hydrophobic and hydrophillic parts in soap?

Watch Video Solution

191. Name the carboxylic acid used as preservation.

Watch Video Solution

https://dl.doubtnut.com/l/_IveETYVQ6D9Z
https://dl.doubtnut.com/l/_n0Z6wY2510Hg
https://dl.doubtnut.com/l/_irOEWvPkBtut
https://dl.doubtnut.com/l/_RWPUsUR6ipLq


192. Among objects made of glass and diamond, which one shines more ?

Why ?

Watch Video Solution

193. Why are vegetable oils healthy us compared to vegetable ghee ?

Watch Video Solution

194. Why organic compounds present in such a large number ?

Watch Video Solution

195. Draw the structure of the following compounds. 2-Methyl penten-3-ol

Watch Video Solution

https://dl.doubtnut.com/l/_Rx0P155UCfP6
https://dl.doubtnut.com/l/_Efikda8gIHyL
https://dl.doubtnut.com/l/_J2FOoE6qmgRV
https://dl.doubtnut.com/l/_1wtBKeURQMvY


196. Draw various structure of 

Watch Video Solution

C5H12

197. Draw various structure of : .

Watch Video Solution

C6H14

198. Explain the occurrence of carbon.

Watch Video Solution

199. Explain about allotropic forms of carbon.

Watch Video Solution

200. How do you prepare Ethanol from ethene?

https://dl.doubtnut.com/l/_62fleXNKv5FV
https://dl.doubtnut.com/l/_1HEbqLkYo4r8
https://dl.doubtnut.com/l/_4IMi57cYO8X5
https://dl.doubtnut.com/l/_JlcmVFwsTO4e
https://dl.doubtnut.com/l/_ushWzaDw1cHG


Watch Video Solution

201. Write the reactions of ethanol with sodium and conc.

Watch Video Solution

H2SO4 −

202. Write the reactions of ethanoic acid with metals, metal hydroxide,

metal carbonates and metal hydrogen carbonates.

Watch Video Solution

203. Draw the structure of butanoic acid .

Watch Video Solution

C3H7COOH

204. How do you appreciate the role of esters in daily life ?

Watch Video Solution

https://dl.doubtnut.com/l/_ushWzaDw1cHG
https://dl.doubtnut.com/l/_ZoDW4UwOzgEj
https://dl.doubtnut.com/l/_Qg1Vn5Tfycv9
https://dl.doubtnut.com/l/_mcM1cgcpa3Xs
https://dl.doubtnut.com/l/_4S4g6veipN4m


205. Why are vegetable oils healthy us compared to vegetable ghee ?

Watch Video Solution

206. Complete the following reactions: 

Watch Video Solution

CH3 − COOH + NaHCO3 →

207. Complete the following reactions: 

Watch Video Solution

CH2 = CH2 + H2Ni
−→

208. Identify the unsaturated compounds of the following :

Watch Video Solution

CH3 − CH2 − CH2

https://dl.doubtnut.com/l/_4S4g6veipN4m
https://dl.doubtnut.com/l/_n6vXFGPslAPu
https://dl.doubtnut.com/l/_iwVqSjsJ2yP8
https://dl.doubtnut.com/l/_oORfLlMnSlzg
https://dl.doubtnut.com/l/_nhUId4emDRtz
https://dl.doubtnut.com/l/_1FiShHUv6tbK


209. Identify the unsaturated compounds of the following :

Watch Video Solution

CH3 − CH = CH2

210. What are the two properties of carbon which lead to the huge

number of carbon compounds we see around us?

Watch Video Solution

211. What are the uses of fullerenes?

Watch Video Solution

212. What happens when a small piece of sodium is dropped into

ethanol?

Watch Video Solution

https://dl.doubtnut.com/l/_1FiShHUv6tbK
https://dl.doubtnut.com/l/_4OmcwSf0vP8l
https://dl.doubtnut.com/l/_PDn27ntafDCK
https://dl.doubtnut.com/l/_JwLzjhKsUHlS


213. Why do sometimes cooking vessels get blackened on a gas or

kerosene stove?

Watch Video Solution

214. Write the IUPAC names of the following compounds.

Watch Video Solution

CH3 − CHO − CH2 − CH2 − CH2 − CH2 − CH2 − CH2 − CH2 _ CH2

215. Write the IUPAC names of the following compounds:

Watch Video Solution

CH3 − CH2 − CH = CH − CH2 − C ≡ CH

216. Write the IUPAC names of the following compounds:

CH3 − CH2 − CH2 − CH2 − CHO

https://dl.doubtnut.com/l/_JwLzjhKsUHlS
https://dl.doubtnut.com/l/_WeYp5pxEWzwx
https://dl.doubtnut.com/l/_dqwET1sJ4SPK
https://dl.doubtnut.com/l/_PpDgh4H3oVo9
https://dl.doubtnut.com/l/_sXq9x4pqfW6k


Watch Video Solution

217. How do you appreciate the role of carbon in everyday life ?

Watch Video Solution

218. Explain briefly about the structure of 'Diamond'?

Watch Video Solution

219. Explain briefly about the structure of 'Graphite'?

Watch Video Solution

220. How do you appreciate the role of ethanol as a fuel?

Watch Video Solution

https://dl.doubtnut.com/l/_sXq9x4pqfW6k
https://dl.doubtnut.com/l/_OZwT6rDkFgkP
https://dl.doubtnut.com/l/_zRyX0rtHwoEB
https://dl.doubtnut.com/l/_HNm0sBDR4Srv
https://dl.doubtnut.com/l/_bsFoXF5GUWjW
https://dl.doubtnut.com/l/_g1iIA5Lkrwic


221. How do you appreciate the role of oxygen in combustion process?

Watch Video Solution

222. How ethanol useful in pharmaceutical industry ?

Watch Video Solution

223. The purest form of carbon is

Watch Video Solution

224. Why does carbon form compounds mainly by covalent bonding?

Watch Video Solution

225. Why carbon does not form  ?C 4+

https://dl.doubtnut.com/l/_g1iIA5Lkrwic
https://dl.doubtnut.com/l/_iTdn4aeHPhd1
https://dl.doubtnut.com/l/_mQA1gDgIu07S
https://dl.doubtnut.com/l/_zbLGaPu2o8Gk
https://dl.doubtnut.com/l/_t73vH0zfwd9k


Watch Video Solution

226. "Diamond is an extremely bad conductor of electricity. " Why?

Watch Video Solution

227. How synthetic detergents are harmful for environment?

Watch Video Solution

228. An organic compound X with a molecular formula  undergoes

oxidation with in presence of alkaline  to form a compound Y. X

on heating in presence of con.  at 443 k gives Z. Which on reaction

with  and decolorizes, it. Identify X, Y and Z write the reactions

involved.

Watch Video Solution

C2H6O

KMnO4

H2SO4

Br2

https://dl.doubtnut.com/l/_t73vH0zfwd9k
https://dl.doubtnut.com/l/_KYUk90IrALhT
https://dl.doubtnut.com/l/_ky9n7syPmKIm
https://dl.doubtnut.com/l/_LgF4QqgtdvgK
https://dl.doubtnut.com/l/_3rh9ZoRG3zD6


229. What type of reaction takes place between ethane and chlorine?

Watch Video Solution

230. Define lsomers. Write structural formula of isomers of butane.

Watch Video Solution

231. Allotropy is a property shown by which class of substances:elements,

compounds or mixtures? Explain allotropy with suitable examples.

Watch Video Solution

232. Two carbon compounds A and B have molecular formulae  and 

 respectively. Which one of the two is most likely to undergo

addition reactions? Justify your answer.

Watch Video Solution

C3H8

C3H6

https://dl.doubtnut.com/l/_3rh9ZoRG3zD6
https://dl.doubtnut.com/l/_IdDX4w4ntNgA
https://dl.doubtnut.com/l/_pdssh5LsvRJ9
https://dl.doubtnut.com/l/_T2mgcl3LDi0Q


233. Draw the structure for the following compounds : Propanoic acid

Watch Video Solution

234. Draw the structure for the following compounds : Chlorobutane

Watch Video Solution

235. Draw the structure for the following compounds : Hexanone

Watch Video Solution

236. Draw the structure for the following compounds : Pentanal

Watch Video Solution

237. Draw the structure of the methane molecule. Write its bond angle.

https://dl.doubtnut.com/l/_r420NkyKv7Jy
https://dl.doubtnut.com/l/_0S3CfLmEh0fD
https://dl.doubtnut.com/l/_1Abfsnbh4FFT
https://dl.doubtnut.com/l/_ZLBp8L92Oa58
https://dl.doubtnut.com/l/_IuPeY7Yo1VLs


Watch Video Solution

238. Draw the structure of the following compounds. 2-Methyl penten-3-ol

Watch Video Solution

239. Draw various structure of 

Watch Video Solution

C5H12

240. Draw various structure of : .

Watch Video Solution

C6H14

241. Draw the structure of isomers of butane.

Watch Video Solution

https://dl.doubtnut.com/l/_IuPeY7Yo1VLs
https://dl.doubtnut.com/l/_VddmlRwSJAEB
https://dl.doubtnut.com/l/_p18W1ZfA9ans
https://dl.doubtnut.com/l/_VoSWTs2KyrjW
https://dl.doubtnut.com/l/_FCladCQHwOmn
https://dl.doubtnut.com/l/_5rdtFhIPYpZ5


242. Draw the structure of: propanol

Watch Video Solution

243. Draw the structures of the following.

Propene

Watch Video Solution

244. Draw the structures of the following : 2-Chloro Propene.

Watch Video Solution

245. Draw the structure of ethane and electron dot structure of chlorine.

Watch Video Solution

https://dl.doubtnut.com/l/_5rdtFhIPYpZ5
https://dl.doubtnut.com/l/_H09o0c3p4iaz
https://dl.doubtnut.com/l/_dcZyZq8CQ6RD
https://dl.doubtnut.com/l/_0ARDglpm9RWp


246. Draw the structuers of the following compounds.

butanol

Watch Video Solution

247. Draw the structures of the following compounds.

1-hexyne

Watch Video Solution

248. Draw the electron dot structure of ethanoic acid and

ethyne(acetylene)

Watch Video Solution

249. Write the molecular formula of the first four compounds of the

homologous series of Aldehydes.

https://dl.doubtnut.com/l/_nf5R5lHpVN4V
https://dl.doubtnut.com/l/_97D8NyEbR1TB
https://dl.doubtnut.com/l/_sJSX1G2O8qTT
https://dl.doubtnut.com/l/_M0tfuQFLRg0k


Watch Video Solution

250. How many isomers can be drawn for pentane with molecular formula

? What are they? Draw their structures and mention their common

names.

Watch Video Solution

C5H12

251. What are the characteristics of homologous series ?

Watch Video Solution

252. Write the IUPAC names of the following compounds. 

Watch Video Solution

CH3 − CH2 − CH
∣

CH3

− CH3

https://dl.doubtnut.com/l/_M0tfuQFLRg0k
https://dl.doubtnut.com/l/_URtv19DfBNAa
https://dl.doubtnut.com/l/_IwwjS4KkyZNj
https://dl.doubtnut.com/l/_Yh837EJWXhQW


253. Write the IUPAC names of the following compounds. 

Watch Video Solution

CH3 − CH2 − CH2 − CH = CH2

254. Write the IUPAC names of the following compounds. 

Watch Video Solution

CH3 − C = OCH2 − CH3

255. Write the IUPAC names of the following compounds.

Watch Video Solution

CH3 − C
∣

Cl

H − CH = CH2

256. What is hybridisation?

Watch Video Solution

https://dl.doubtnut.com/l/_nczoPlPONf6n
https://dl.doubtnut.com/l/_g36gDQO2Y0aa
https://dl.doubtnut.com/l/_e2sT9pC5InPr
https://dl.doubtnut.com/l/_WwE7eWj7b5V0


257. Draw the electronic dot structure of ethane molecule( ).

Watch Video Solution

C2H6

258. Diamond and graphite are Allotropes of carbon. Graphite is good

conductor but not diamond. This is due to:

Watch Video Solution

259. Write about the structures of buckminsterfullerene.

Watch Video Solution

260. What are nanotubes?

Watch Video Solution

https://dl.doubtnut.com/l/_WwE7eWj7b5V0
https://dl.doubtnut.com/l/_xTi91vyspo6o
https://dl.doubtnut.com/l/_O9ec7ilalHAu
https://dl.doubtnut.com/l/_jvXinzlb4PiE
https://dl.doubtnut.com/l/_L2yzTZcANWx2
https://dl.doubtnut.com/l/_zwGQI6PqxiI2


261. Write the names of the organic compounds which have the following

structure : 

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − CH3

262. Write the name of the organic compound which have the following

structure. 

Watch Video Solution

CH3 − CH2 − C
∣

CH3

H − CH3

263. Write the name of the organic compound which have the following

structure. 

Watch Video Solution

CH3 − CH2 − C
∣

CH3

H − CH3

https://dl.doubtnut.com/l/_zwGQI6PqxiI2
https://dl.doubtnut.com/l/_bXOQFZtKUJpM
https://dl.doubtnut.com/l/_UahqSykw3JU9


264. Write the names of the organic compounds which have the following

structure ? 

Watch Video Solution

CH3 − CH2 − C
∣

Cl

H2 − CH − CH3

265. Write the name of the organic compound which have the following

structure. 

Watch Video Solution

CH3 − CH2 − CH2 − C
∣

Cl

H − CH3

266. Which among the following is a branched chain polymer.

Watch Video Solution

267. Explain the possibility of bonds formation by a carbon atom with

examples.

https://dl.doubtnut.com/l/_yqJWveGAdVJp
https://dl.doubtnut.com/l/_FY0MpPRHAuUr
https://dl.doubtnut.com/l/_fGtkuKjhtY1B
https://dl.doubtnut.com/l/_fnrf4qwlU1cx


Watch Video Solution

268. What is the information given by the IUPAC name of an organic

compound ?

Watch Video Solution

269. Complete the following reactions.

Watch Video Solution

CH3 − CH2 − OH /
−−−−−−−−−→
Con .H2SO4

(Heat)

270. Complete the following reactions: 

Watch Video Solution

CH3 − COOH + NaHCO3 →

271. Complete the following reactions: CH2 = CH2 + H2Ni
−→

https://dl.doubtnut.com/l/_fnrf4qwlU1cx
https://dl.doubtnut.com/l/_7fwvG8TxyWrW
https://dl.doubtnut.com/l/_EaIBZLVNqLbZ
https://dl.doubtnut.com/l/_7ryczv1askP2
https://dl.doubtnut.com/l/_KZGOKm1rMHFi


Watch Video Solution

272. What are hydrocarbons?

Watch Video Solution

273. The radii of curvatures ( R ) of biconvex lens is same. An object is kept

at center of curvature. The refractive index of material is n. Lens is kept in

air.

What is focal length ?

Watch Video Solution

274. The radii of curvatures ( R ) of biconvex lens is same. An object is kept

at center of curvature. The refractive index of material is n. Lens is kept in

air.

Find out image distance.

W t h Vid S l ti

https://dl.doubtnut.com/l/_KZGOKm1rMHFi
https://dl.doubtnut.com/l/_DKAJZ5cPK0oI
https://dl.doubtnut.com/l/_Qq5zk5A76RDC
https://dl.doubtnut.com/l/_qhUO5L7cYJz0


Watch Video Solution

275. The focal length of an equi-convex lens is greater than the radius of

curvature of any of the surfaces. Then, the refractive index of the material

of the lens is

Watch Video Solution

276. An electric circuit is formed with a copper wire as shown in figure. We

know that resistance is directly proportional to the length of the

conducotr. Find out the effective resistance between the points A and C.

Watch Video Solution

277. In the following cases calculate the magnification values for a

concave mirror. Give reason.

When the object is at the focal point of the mirror.

Watch Video Solution

https://dl.doubtnut.com/l/_qhUO5L7cYJz0
https://dl.doubtnut.com/l/_oO1mccoTQFPk
https://dl.doubtnut.com/l/_JD8A8nGnTMdA
https://dl.doubtnut.com/l/_ApZzzVOAZWZM


278. In the following cases calculate the magnification values for a

concave mirror. Give reason.

When the object is at the focal point of the mirror.

Watch Video Solution

279. Kishore wore spectacles. When you saw through his spects the size

of his eyes seemed bigger than their original size. 

Which lens did he use ?

Watch Video Solution

280. Kishore wore spectacles. When you saw through his spects the size

of his eyes seemed bigger than their original size. 

Explain that defect of vision (with the help of a diagram)

Watch Video Solution

https://dl.doubtnut.com/l/_ApZzzVOAZWZM
https://dl.doubtnut.com/l/_JhdvvzQ8gs6s
https://dl.doubtnut.com/l/_ooOiEo7GCagL
https://dl.doubtnut.com/l/_SltYRHHGE6va


281. In a classroom four students measured focal length of a given lens

experimentally. They got the values as 12.1 cm, 12.2 cmm, 12.05 cm , 12.3 cm

respectively. They discussed reasons for getting different values. Explain

the reasons ?

Watch Video Solution

282. Assume that an object is kept at a distance of 20 cm in front of a

concave mirror. If its focal length is 30 cm then

What is the image distance ?

Watch Video Solution

283. Assume that an object is kept at a distance of 20 cm in front of a

concave mirror. If its focal length is 30 cm then

What is the magnification of mirror in this case ?

Watch Video Solution

https://dl.doubtnut.com/l/_9g0rm4tf389c
https://dl.doubtnut.com/l/_iT1krz99ZE2D
https://dl.doubtnut.com/l/_1sD2JJOfhWTf


284. There is an object infront of convex mirror at a distance of 5 cm. If its

focal length is 10 cm then

What is the image distance ?

Watch Video Solution

285. Focal length of a concave mirror is f. The distance from its focal point

to the object is P. Find the ratio of heights of image.

Watch Video Solution

286. Consider 4 kg of water at . How much amount of heat is

required to convert it into steam ?

Watch Video Solution

100∘ C

287. The image formed by a concave mirror

https://dl.doubtnut.com/l/_2anxjwOHueBE
https://dl.doubtnut.com/l/_ZlRrlwBPlDB9
https://dl.doubtnut.com/l/_vOx4wDMi4T3E
https://dl.doubtnut.com/l/_YgyproaMUA2O


Watch Video Solution

288. Answer the following questions if the magnification of concave

mirror = 1.

What are the properties of an image ?

Watch Video Solution

289. The radius of curvature of a plano-convex lens is R. The refractive

index of material of prism is n then find the focal length of the lens ?

Watch Video Solution

290. Assume that an object is kept at a distance of 20 cm in front of a

concave mirror. If its focal length is 30 cm then

What is the image distance ?

Watch Video Solution

https://dl.doubtnut.com/l/_YgyproaMUA2O
https://dl.doubtnut.com/l/_HFly4O4O128r
https://dl.doubtnut.com/l/_humXdsYGuHSx
https://dl.doubtnut.com/l/_xHtJW5zcn2wk


291. Assume that an object is kept at a distance of 20 cm in front of a

concave mirror. If its focal length is 30 cm then

What is the magnification of mirror in this case ?

Watch Video Solution

292. Explain the reason for using lead in fuse wires.

Watch Video Solution

293. In which case incident angle and refracting angle are same ?

Watch Video Solution

294. The focal length of convex mirror is 16 cm. What is its radius of

curvature ?

Watch Video Solution

https://dl.doubtnut.com/l/_Z8dmtACngXuK
https://dl.doubtnut.com/l/_JeEioPnuBdqo
https://dl.doubtnut.com/l/_k9sRb8nSMnRu
https://dl.doubtnut.com/l/_REnT5jIhvzUF


295. The focal length of concave mirror is f . Is there any change in focal

length when it is completely immersed in water ? If not why ?

Watch Video Solution

296. The minimum distance of an object from concave mirror for which

the mirror forms real image is……………(Let 'f' be the focal length of concave

mirror)

A. f

B. 2f

C. 4f

D. zero

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_REnT5jIhvzUF
https://dl.doubtnut.com/l/_WB9vVEdW3DOY
https://dl.doubtnut.com/l/_QLsEb9VrKg7c
https://dl.doubtnut.com/l/_kpzjltbigDm0


297. A resistor is connected to a battery by which the temperature of wire

increased. Which value does not change ?

A. Drift speed of electrons

B. Electrical resistivity

C. Resistance

D. Density of electrons

Answer:

Watch Video Solution

298. The resistance of A and B are  and  and  the

electrical resistivities are  and  then the correct explanation is

A. 

B. 

C. 

RA RB RA < RB

SA SB

SA > SB

SA = SB

SA < SB

https://dl.doubtnut.com/l/_kpzjltbigDm0
https://dl.doubtnut.com/l/_WO0BGc6bozEi


D. We cannot derive any relation between  and  by given data

Answer:

Watch Video Solution

SA SB

299. Different gases are situated at same temperature. Which value

remians same for all gases ?

A. . Mass

B. . Velocity

C. . Linear moments

D. . Average kinetic energy

Answer:

Watch Video Solution

1

2

3

4

https://dl.doubtnut.com/l/_WO0BGc6bozEi
https://dl.doubtnut.com/l/_TNBE6h80B1Pr


300. A positively charge body is projected in the east direction. Now

charged particle deflected in North direction. Then the direction of

magnetic field is

A. West

B. South

C. Vertically upwards

D. Vertically downwards

Answer:

Watch Video Solution

301. A bulb is designed with potential  and voltage . Now the bulb is

connected to a voltage V then the bulb's electrical power P =

A. 

B. 

P0 V0

P0
V0

V

P0
V

V0

https://dl.doubtnut.com/l/_yodWAnRDxnAB
https://dl.doubtnut.com/l/_2ncRYYi4ipSA


C. 

D. 

Answer:

Watch Video Solution

( )
2

P0
V

V0

( )
2

P0
V0

V

302. Take a long cylindrical copper tube. Hold it so that it is perpendicular

to the horizontal. A stone and a bar magnet are left freely, so that bar

magnet passes through the tube and stone outside the tube. Which one

reaches the earth first. Guess why it is so ? Give proper reasons.

Watch Video Solution

303. Kalyan got up at midnight 12'O clock and he switch on the tube light

in his room. Then in that light he felt difficult to open his eyes. Guess the

reasons for it.

Watch Video Solution

https://dl.doubtnut.com/l/_2ncRYYi4ipSA
https://dl.doubtnut.com/l/_i6Z9AdYw2QUC
https://dl.doubtnut.com/l/_2kUZjz2PWPu9


304. A spring is suspended as shown in diagram. A battery and switch are

connected between the ends of the spring. What happens when the

switch is closed ? Guess the answer .

Watch Video Solution

305. Observe the conversation of Siri and Bhavya. Siri: Bhavya, I am not

able to draw the ray diagrams of mirror. Bhavya : Siri, do you know the

laws of reflection . Do you know the Fermat's principle. Basing on above

conversation, Bhavya taught how to draw ray diagrams to Siri, asking her

some questions which she known. Do you know what Bhavya asked

Siri.Write atleast 4 questions.

Watch Video Solution

306. An object is placed at a distance of 10 cm before a convex lens of

focal length 20 cm. find the position and nature of the image?

https://dl.doubtnut.com/l/_2kUZjz2PWPu9
https://dl.doubtnut.com/l/_iBbT38BsqHtB
https://dl.doubtnut.com/l/_tPEocxSMy5UL
https://dl.doubtnut.com/l/_hv1alYZR0Apb


Watch Video Solution

307. Varun see his image in a concave mirror. When he moves away he was

unable to see his image. Distinguish between those two images.

Watch Video Solution

308. Nikith and Vamsi are friends. They are walking on tar road at the

afternoon time. Vamsi has seen that images of water on roads. He has

shown it to Nikith, Vamis asked Nikith to guess the reasons for the

shades of water. If you were asked the same what will you guess ?

Watch Video Solution

309. Lokesh told to his teacher that he is not able to recognize the

difference between evaporation and boiling. Then the teacher asked

some questions and made him to understand the difference between

them. What are the questions asked by teacher to Lokesh ?

https://dl.doubtnut.com/l/_hv1alYZR0Apb
https://dl.doubtnut.com/l/_fPdDkCNubqxK
https://dl.doubtnut.com/l/_4iqyB4CtmWaE
https://dl.doubtnut.com/l/_fsaMg6uZJxcc


Watch Video Solution

310. We often see the boards "High voltage is dangerous". But we are not

seeing "High electricity is dangerous". Guess it and write the answer.

Watch Video Solution

311. Assertion (A) : When light refracts, if changes the direction (when

angle of incidence is not )Reason (R ) : Light, when it changes its

medium in changes it speed.

A. A is wrong, R is correct

B. A,R are correct and R is the correct explatnation for A

C. A, R are correct , but R is not the correct explanation for A

D. A and R both are wrong

Answer:

Watch Video Solution

0∘

https://dl.doubtnut.com/l/_fsaMg6uZJxcc
https://dl.doubtnut.com/l/_fvLwdzqxhOWZ
https://dl.doubtnut.com/l/_hSjY01v8WEU8


312. A wire of length 10 meter is connected between the terminals of a

battery of e.m.f. 8 volts. Later that wire is cut into 5 equal parts. These are

connected parallel and the end terminals are connected to battery. In the

second case battery give more electric power which is the incorrect

option of the following ?

A. The current flowing in second case is 25 times more than that of

first case

B. The electric power utilized in second case is 10 times less than first

case.

C. The electric utilized in second case is 25 times more than first case

D. The resistance in second case is 1/25th of that of first case.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_hSjY01v8WEU8
https://dl.doubtnut.com/l/_KmeT7cRZLzPt
https://dl.doubtnut.com/l/_Wdow0ymS4Il3


313. Harsha told that Magnetic field lines are closed loops. But Krishna is

not agreeing with Harsha. How Harsha will convince Krishna with an

experiment ? What are the apparatus required ? How the experiment will

be conducted ?

Watch Video Solution

314. Aravind requires a concave mirror of focal length 10 cm for an

experiment of light. He is having lot of concave mirrors in his lab without

its focal length values. To determine the focal length of mirror in his

laboratory, what are the apparatus required ? How focal length can be

determined ?

Watch Video Solution

315. A company wants to make transparent part of a helmet whoe

refractive index is equal to refractive index of air. For that purpose they

want to determine the refractive index of different materials of which

https://dl.doubtnut.com/l/_Wdow0ymS4Il3
https://dl.doubtnut.com/l/_LkLj9X0WWHfJ
https://dl.doubtnut.com/l/_DgVNxdlg5lxs


shape the material has to be selected. How the refractive index can be

determined experimentally ?

Watch Video Solution

316. In the experiment of melting point of ice, what main point you have

noticed while ice completely metls into water ?

Watch Video Solution

317. Explain the procedure of making solenoid on a wooden plank using

copper wire to know the magnetic field created by solenoid.

Watch Video Solution

318. In the experiment of observing a stone kept at the bottom of a water

beaker through a convex lens which is also kept in water. What are the

conclusions you have arrived ?

https://dl.doubtnut.com/l/_DgVNxdlg5lxs
https://dl.doubtnut.com/l/_WlH4BShR54i4
https://dl.doubtnut.com/l/_HXu5b7ISQ9Ba
https://dl.doubtnut.com/l/_TTvFmuLVFhNE


Watch Video Solution

319. Explain an experiment to show that the rays from the source at

distance will be parallel.

Watch Video Solution

320. Name the apparatus required in the experimental demonstration of

verifying the relation between the resistance of a conductor and its

length.

Watch Video Solution

321. How will you arrange a plane mirror inside water tray to see the

different colour in sunlight in your class-room ?

Watch Video Solution

https://dl.doubtnut.com/l/_TTvFmuLVFhNE
https://dl.doubtnut.com/l/_IcwhmhNJHujA
https://dl.doubtnut.com/l/_03BOSkQQipHf
https://dl.doubtnut.com/l/_Wainx0MZjltg
https://dl.doubtnut.com/l/_klF3m5kPrdie


322. What is the need of using semi-circular glass disc in the experimental

demonstration of deriving the relation between the angle of incldence (i)

and angle of refraction ?

Watch Video Solution

323. A horse shoe magnets two poles are kept on both sides to a current

carrying conductor. In this experiment the direction of force is observed

as

A. Current wire deflects towards the North pole of magnet

B. Current wire deflects towards the South pole of magnet

C. No deflection in the current wire

D. The wire deflects according to right hand thumb's rule

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_klF3m5kPrdie
https://dl.doubtnut.com/l/_yuM7THaknvB9
https://dl.doubtnut.com/l/_7yyIYWajitG2


324. The properties of image when a real object is kept in between focus

and centre of curvature of a concave mirror.

A. Size of image is greater than size of object

B. Image is inverted

C. Image is real

D. All the above

Answer:

Watch Video Solution

325. Doctor advised to use a lens of - 2D for Karthik. By above statement

what information you can give ? Explain the eye defect and also how you

will correct it.

Watch Video Solution

https://dl.doubtnut.com/l/_7yyIYWajitG2
https://dl.doubtnut.com/l/_yvR9coqdDWew


326. A student collected information as follows. It is better to purchase a

camera having less focal length. How you will analyse whether the above

information is correct or not ?

Watch Video Solution

327. Write any one of the experiment conducted by Faraday on

electromagnetism.

Watch Video Solution

328. We cannot decide the image distance in the case of virtual image

formed by lenses. Is above statement correct or incorrect ? Explain with

reasons.

Watch Video Solution

https://dl.doubtnut.com/l/_Wgznaayvwbat
https://dl.doubtnut.com/l/_IKdtQ0JtczQH
https://dl.doubtnut.com/l/_NCwTRsDlE2SF


329. The following statement was read by Saritha. The induced emf in a

coil is independent of the resistance of the coil. How you will verify and

prove the above statement is true ?

Watch Video Solution

330. Nikita gave an information to Rupa as "The magnetic flux passing

through a closed area kept inside a magnetic field is zero". How you will

agree with it ?

Watch Video Solution

331. Your friend told a formula to you as 1/f = (n - 1)

then he put the following questions.


What are the precautions that you have to take while using these

formulae ?

Watch Video Solution

( − ), = −
1

R1

1

R2

1

f

1

v

1

u

https://dl.doubtnut.com/l/_YzVuJjqnbYk5
https://dl.doubtnut.com/l/_PKuM7fbdBqco
https://dl.doubtnut.com/l/_3lnsYN0HVNbH


332. Your friend told a formula to you as 1/f = (n - 1)

then he put the following questions.


In what context you have to use the two formulae ?

Watch Video Solution

( − ), = −
1

R1

1

R2

1

f

1

v

1

u

333. Ganesh told me that we can catch the virtual image on the screen.

How you will analyse it ?

Watch Video Solution

334. Which one of the following statement is true regarding the focal

power of a lens is 1D for a person suffering from eye defect ?

A. Long sightedness : Convex lens focal length = 100 cm

B. Short sightedness : Concave lens focal length = 100 cm

C. Long sightedness : Convex focal length = 50 cm

https://dl.doubtnut.com/l/_l65nDkETHVZ0
https://dl.doubtnut.com/l/_i3TT5LyXqgv5
https://dl.doubtnut.com/l/_dBFh3yOdwOqL


D. Short sightedness : Concave lens focal length = 50 cm

Answer:

Watch Video Solution

335. The three resistance A,B and C have values 3R,6R and R

respectively.When some potential difference is applied across the

network,the thermal powers dissipated by A,B and C are in the ration

A. 2 : 3 : 4

B. 2 : 4: 3

C. 4 : 2 : 3

D. 3 : 2 : 4

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_dBFh3yOdwOqL
https://dl.doubtnut.com/l/_blqJG4jq9Pck
https://dl.doubtnut.com/l/_3rl5M0wx5lG0


336. Student : As temperature increases what happens to resistance ?

Teacher : As temperature increases resistance increases.

A. As temperature increases density of electrons increases

B. The charge on each electron increases

C. The mass of each electron increases

D. Number of collisions increases

Answer:

Watch Video Solution

337. A student connected Ammeter and Voltmeter in series to a battery.

The readinfs are A and V. If a resistance is connected in parallel to the

voltmeter then

A. Both A and V values increases

B. Both A and V values decreases

https://dl.doubtnut.com/l/_3rl5M0wx5lG0
https://dl.doubtnut.com/l/_heYJEmXMRw7s


C. A value increases, V value decreases

D. A value decreases, V value increases

Answer:

Watch Video Solution

338. Goutam saw his face in car rear view mirror. He observed that his

image is smaller than the original.

What type of mirror it is ?

Watch Video Solution

339. Goutam saw his face in car rear view mirror. He observed that his

image is smaller than the original.

What is the nature of image ?

Watch Video Solution

https://dl.doubtnut.com/l/_heYJEmXMRw7s
https://dl.doubtnut.com/l/_YTPDYzWDiDAF
https://dl.doubtnut.com/l/_Wp4A10DUJuic
https://dl.doubtnut.com/l/_afvDzUI5Pina


340. Goutam saw his face in car rear view mirror. He observed that his

image is smaller than the original.

Draw the ray diagram for it.

Watch Video Solution

341. In the given below diagram discuss the image properties.

Watch Video Solution

342. Akhil told Avinash that convex lens converts the three types of rays

i.e., parallel, divergent, convergent rays to convergent rays. Avinash does

not agree with Akhil's words. Support your argument with ray diagrams.

Watch Video Solution

343. What represents this ray diagram ?

W h Vid S l i

https://dl.doubtnut.com/l/_afvDzUI5Pina
https://dl.doubtnut.com/l/_3zrvCZnekYGR
https://dl.doubtnut.com/l/_AoGYJbwHW3m6
https://dl.doubtnut.com/l/_WwqIw7rpPKbr


Watch Video Solution

344. What is the mirror used in car head light ?

Watch Video Solution

345. Where are the bulbs kept in a car ?

Watch Video Solution

346. Draw the ray diagram in the case of formation of virtual image when

an object is kept on the principal axis of a concave mirror ?

Watch Video Solution

347. Draw the ray diagram of image position formed at a point sized

object due to a plane mirror.

Watch Video Solution

https://dl.doubtnut.com/l/_WwqIw7rpPKbr
https://dl.doubtnut.com/l/_U0gk7MdDE3pC
https://dl.doubtnut.com/l/_WW13t0Klint4
https://dl.doubtnut.com/l/_X6dXS0oE5AJq
https://dl.doubtnut.com/l/_cd6roadIaApF


Watch Video Solution

348. Vikas who is having eyesight consulted an Opthalmologist. He

suggested to use concave lens. Then what is the nature of defect Vikas

suffering from ? How the defect will be corrected ?

Watch Video Solution

349. Draw the picture which shows the connections of electrical in your

home. Mention the names of symbols used.

Watch Video Solution

350. When white light incident on a prism it sends out 7 colours ? Draw a

diagram showing this phenomenon.

Watch Video Solution

https://dl.doubtnut.com/l/_cd6roadIaApF
https://dl.doubtnut.com/l/_HTqgjb8eFU6g
https://dl.doubtnut.com/l/_dxntBLvXxwNi
https://dl.doubtnut.com/l/_ctAMjdrbBlYM


351. Name the different types of lenses .

Watch Video Solution

352. How do you appreciate the role of ciliary muscles in controlling the

eye lens ?

Watch Video Solution

353. Grandfather of Daya Is not able to read the newspaper. Obersving

that, Daya gave a lens to his grandfather and asked him to read

newspaper. 

Name the lens that was given by him.

Watch Video Solution

https://dl.doubtnut.com/l/_AHjlIPJX6th9
https://dl.doubtnut.com/l/_6yAVJk1uEbF5
https://dl.doubtnut.com/l/_ffbUj0t3rBrd


354. Grandfather of Daya is not able to read the newspaper. Obersving

that, Daya gave a lens to his grandfather and asked him to read

newspaper.

Explain various factors for him to give such lens. Take the help of the

diagram for clarity.

Watch Video Solution

355. Lisa is playing with plane mirror, she has seen her image in it.

What is the reason for forming that image ?

Watch Video Solution

356. Lisa is playing with plane mirror, she has seen her image in it.

She kept mirror in the Sun, when she touched it later, she felt that it is

hot.What could be reason for that ?

Watch Video Solution

https://dl.doubtnut.com/l/_YNDrP85PSz07
https://dl.doubtnut.com/l/_FoSQBraz4zIn
https://dl.doubtnut.com/l/_vlYRBN2qd5W0


357. Lisa is playing with plane mirror, she has seen her image in it.

She stood away from the mirror which is exposed to sunlight and

observed that the mirror is shining. What could be the reason for it ?

Watch Video Solution

358. Why do stars twinkle?

Watch Video Solution

359. For a car 40 watt power is utilised for its head lights to show less

intensity of light and 50 watt power is utilised to show more intensity of

light. In which case the resistance of head lights is more ? Discuss.

Watch Video Solution

https://dl.doubtnut.com/l/_5HqTAtUsx8Hb
https://dl.doubtnut.com/l/_wZk1usHeEhyB
https://dl.doubtnut.com/l/_VjVqNTxhGY13


360. Your friend needs 10 ohms resistance. He came to you and asked, but

you have 40 ohms resistance.

How many resistors your friend will ask you ?

Watch Video Solution

361. Your friend needs 10 ohms resistance. He came to you and asked, but

you have 40 ohms resistance.

How the resistors which are taken are connected ?

Watch Video Solution

362. Your friend needs 10 ohms resistance. He came to you and asked, but

you have 40 ohms resistance.

Show that their effective resistance is 10 ohms.

Watch Video Solution

https://dl.doubtnut.com/l/_7mHzkby1TwHQ
https://dl.doubtnut.com/l/_TiREnmxzwSe5
https://dl.doubtnut.com/l/_k0fZ894iSrw6
https://dl.doubtnut.com/l/_0ObtHf1YwGYY


363. Convert the following temperature in degree centigrade.

0 K

Watch Video Solution

364. Convert the following temperature in degree centigrade.

25 K

Watch Video Solution

365. Convert the following temperature in degree centigrade.

100 K

Watch Video Solution

366. Convert the following temperature in degree centigrade.

210 K

Watch Video Solution

https://dl.doubtnut.com/l/_0ObtHf1YwGYY
https://dl.doubtnut.com/l/_KSI00ZYrs6LN
https://dl.doubtnut.com/l/_eO0q3gI7AQCU
https://dl.doubtnut.com/l/_PfGdmrT5KK6w


367. A, B are two bulbs, they are manufactured so that they can work at

same voltage. The electric powers .If  are connected in

series with 'V' volts.

A. A consumers more power than B

B. B consumers more power than A

C. The ratio of powers utilised depend on 'V'

D. A and B utilise same power

Answer:

Watch Video Solution

PA > PB PA, PB

368. Which is not suitable for domestic electric circuit ?

A. All the electric appliances are connected in parallel.

https://dl.doubtnut.com/l/_PfGdmrT5KK6w
https://dl.doubtnut.com/l/_wBvSUFEf8gV4
https://dl.doubtnut.com/l/_06mXL95fsiPb


B. Switch is connected parallel to the electric appliance, so that it

consumes electricity even if the switch is closed or opened.

C. Switch is connected parallel to the electric appliance. If switch is

closed the fuse will melt.

D. Switch can be connected in series or parallel with electricl

appliances.

Answer:

Watch Video Solution

369. In a circuit the battery is related to.

A. Battery supplies electrons to the circuit

B. Battery supplies electrons towards high potential

C. Battery pushes electrons towards low potential

D. Battery increases the speed of the electron and accelerates them

https://dl.doubtnut.com/l/_06mXL95fsiPb
https://dl.doubtnut.com/l/_Zoh2WLWIofBi


Answer:

Watch Video Solution

370. If the length of filament in a heater is reduced by 10%, then the

electric power utilized by it

A. Increases by 9%

B. Increases by 11%

C. Increases by 19%

D. Increases by 10%

Answer:

Watch Video Solution

371. In the flow of electricity AC current is better than DC current. Why ?

https://dl.doubtnut.com/l/_Zoh2WLWIofBi
https://dl.doubtnut.com/l/_tecAvbtwKAGO
https://dl.doubtnut.com/l/_XbDk4XogEWaw


A. AC can be rectified.

B. AC can be produced easily

C. Thin conductors can be used

D. This is very safe

Answer: All the above

Watch Video Solution

372. A container made up of Aluminium is at . It is filled with hydrogen

gas to . Answer the following basing on above information.


What is the change when an ion of hydrogen collides with some velocity ?

Compare with its initial velocity after collision takes place.

Watch Video Solution

30∘

80∘ C

373. A container made up of Aluminium is at . It is filled with hydrogen

gas to . Answer the following basing on above information.


30∘

80∘ C

https://dl.doubtnut.com/l/_XbDk4XogEWaw
https://dl.doubtnut.com/l/_vhEuRWCxxGne
https://dl.doubtnut.com/l/_XbbAytmBPTFb


Exercise

The temperatures of both (vessel & ion) reaches to . Does heat

transfer take place ?

Watch Video Solution

45∘ C

374. A container made up of Aluminium is at . It is filled with hydrogen

gas to . Answer the following basing on above information.


What is the average kinetic energy of free electrons of the metal if the

average kinetic energy of  ion is 20 units ?

Watch Video Solution

30∘

80∘ C

H2

375. Suppose you are in a cold country. You will wear silk cloth so that

your body is hot.How the silk is useful for you body to be warm ?

Watch Video Solution

https://dl.doubtnut.com/l/_XbbAytmBPTFb
https://dl.doubtnut.com/l/_zf5VNeqwebtb
https://dl.doubtnut.com/l/_6YekB3Zpvapj
https://dl.doubtnut.com/l/_zIxgxVlZFWPo


1. Which of the following solution of acetic acid in water can be used as

preservative?

A. 5 - 10%

B. 10 - 15 %

C. 15 - 20 %

D. 1

Answer:

Watch Video Solution

2. The suffix used for naming an aldehyde is___

A. -ol

B. -al

C. -one

D. -ene

https://dl.doubtnut.com/l/_zIxgxVlZFWPo
https://dl.doubtnut.com/l/_o8YPTRti0MFG


Answer:

Watch Video Solution

3. Acetic acid when dissolved in water it dissociates into ions reversibly

because it is a______

A. weak acid

B. strong acid

C. weak base

D. strong base

Answer:

Watch Video Solution

4. Which one of the following hydrocarbons can show isomerism?

https://dl.doubtnut.com/l/_o8YPTRti0MFG
https://dl.doubtnut.com/l/_etuZQyYbYuRp
https://dl.doubtnut.com/l/_BeRQxeVmExET


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C2H4

C2H6

C3H3

C4H10

5. Combustion of hydrocarbon is generally accompanied by the evolution

of_______

A. Heat

B. Light

C. Both heat and light

D. Electric current

Answer:

https://dl.doubtnut.com/l/_BeRQxeVmExET
https://dl.doubtnut.com/l/_2gORHEuBB0kD


Watch Video Solution

6. 2ml of ethanoic acid was taken in each of the three test tubes A, B and

C and 2ml, 4ml and 8ml of water was added to them respectively. A clear

solution is obtained in_____

A. Test tube A only

B. Test tubes A and B only

C. Test tubes B and C only

D. All the test tubes

Answer:

Watch Video Solution

7. If 2ml of acetic acid was added slowly in drops to 5ml of water then we

will notice

https://dl.doubtnut.com/l/_2gORHEuBB0kD
https://dl.doubtnut.com/l/_WTTURlCr8goK
https://dl.doubtnut.com/l/_vkFLgvy1HE0w


A. The acid forms a separate layer on the top of water.

B. Water froms a separate layer on the top of the acid.

C. Formation of a clear and homogeneous solution.

D. Formation of a pink and clear solution.

Answer:

Watch Video Solution

8. A few drops of ethanoic acid were added to solid sodium carbonate.

The possible results of the reactions are

A. A hissing sound was evolved

B. Brown fumes evolved

C. Brisk effervescence occurred

D. A pungent smelling gas evolved

Answer:

https://dl.doubtnut.com/l/_vkFLgvy1HE0w
https://dl.doubtnut.com/l/_pKHMCgMpklli


Watch Video Solution

9. When acetic acid reacts with ethyl alcohol, we add conc. , it acts

as…..

A. Oxidizing agent, saponification

B. Dehydrating agent, esterification

C. Reducing agent, esterification

D. Acid & esterification

Answer:

Watch Video Solution

H2SO4

10. Commercially available ethanol is known is

A. rectified spirit

B. absolute alcohol

https://dl.doubtnut.com/l/_pKHMCgMpklli
https://dl.doubtnut.com/l/_o1zz4YGzmohr
https://dl.doubtnut.com/l/_2aLwROfGA3Nu


C. adulterated alcohol

D. natured alcohol

Answer:

Watch Video Solution

11. Which of the following are molecules of varying sizes and also called

Buckyballs ?

A. Diamond

B. Graphite

C. Buckminster fullerene

D. Nano tubes

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_2aLwROfGA3Nu
https://dl.doubtnut.com/l/_pCg4UhHrsISo
https://dl.doubtnut.com/l/_1HmSj137oZP2


12.  is the IUPAC structure of

A. Butanal

B. Butanoic acid

C. Butane

D. But-1-ene

Answer:

Watch Video Solution

CH3 − CH2 − CH2 − COOH

13. The IUPAC secondary suffix to the functional group for aldehydes is

A. -ol

B. -al

C. - one

D. -oic acid

https://dl.doubtnut.com/l/_1HmSj137oZP2
https://dl.doubtnut.com/l/_M0vtQgmo4PlP


Answer:

Watch Video Solution

14. The process of producing soaps is called

A. Esterification

B. Formation of micelle

C. Saponification

D. None

Answer:

Watch Video Solution

15. Which of the following is used as catalyst in the hydrogenation of

vegetable oils ?

https://dl.doubtnut.com/l/_M0vtQgmo4PlP
https://dl.doubtnut.com/l/_0JyhMojdF5Am
https://dl.doubtnut.com/l/_O5aQR5PzJXUa


A. Iron

B. Cobalt

C. Nickel

D. Lead

Answer:

Watch Video Solution

16.  what is IUPAC name of the chain ?

A. Butane

B. But -1- ene

C. Butanal

D. Butan - 1 - ol

Answer:

Watch Video Solution

CH3 − CH2 − CH2 − CH3

https://dl.doubtnut.com/l/_O5aQR5PzJXUa
https://dl.doubtnut.com/l/_LAuoCNtlEcl0


17. Which of the following is the general formula of a soap ?

A. RCOONa

B. RCOOK

C. A or B

D. None

Answer:

Watch Video Solution

18. Which of the following is known as tri-hy-droxy alcohol ?

A. Glycerol

B. Tristearin

C. Sodium stearate

https://dl.doubtnut.com/l/_LAuoCNtlEcl0
https://dl.doubtnut.com/l/_zZuAS8UcYMbI
https://dl.doubtnut.com/l/_CXNAfyzX9RbJ


D. ester

Answer:

Watch Video Solution

19. A spherical aggregate of soap molecules in water is called

A. Hydrophilic end

B. Hydrophobic end

C. Micelle

D. Cation

Answer:

Watch Video Solution

20. How much % solution of acetic acid in water is called vinegar ?

https://dl.doubtnut.com/l/_CXNAfyzX9RbJ
https://dl.doubtnut.com/l/_El4tWGHzMu7Y
https://dl.doubtnut.com/l/_uqRh29rVuQ5T


A. 3 - 5 %

B. 5 - 8%

C. 8 - 10 %

D. 10 - 12 %

Answer:

Watch Video Solution

21. Which of the following solution in gasoline is a good motor fuel ?

A. 1% ethanol

B. 10% ethanoic acid

C. 10% acetic acid

D. 10% ethanol

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_uqRh29rVuQ5T
https://dl.doubtnut.com/l/_yjCyPReJAFLr


22. The suffix used for naming an carboxylic acids is

A. ol

B. -al

C. - one

D. - oio acid

Answer:

Watch Video Solution

23. Which of the following is the formula for the IUPAC name of Butan - l -

ol ?

A. 

B. 

C. 

CH3CH2 _ CH2 − CH2 − COOH

CH3 − CH2 − CH2 − CH2 − CHO

CH3 − CH2 − CH2 − CH2 − OH

https://dl.doubtnut.com/l/_yjCyPReJAFLr
https://dl.doubtnut.com/l/_8zD2xTSOa9t5
https://dl.doubtnut.com/l/_nJnILWRuAGDu


D. 

Answer:

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − OR

24. Which of the following is the general formula of homologous series of

Alkanes ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CnH2n + 2

CnH2m

CnH2n − 2

CnH2n + 1

https://dl.doubtnut.com/l/_nJnILWRuAGDu
https://dl.doubtnut.com/l/_ELxkXPe5omeq


25. The general formula of alkynes is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CnH2n + 2

CnH2n

CnH2n − 2

CnH2n + 1

26. Which of the following is the formula of chloroform ?

A. 

B. 

C. 

D. 

CH3Cl

CH2Cl2

CHCl3

Cl4

https://dl.doubtnut.com/l/_sr7wsuhOoWHT
https://dl.doubtnut.com/l/_xJHc2WoH3rOD


Answer:

Watch Video Solution

27. Which of the following is the formula for the functional group of

Esters ?

A. - OR

B. - COOR

C. -C = O

D. - CN

Answer:

Watch Video Solution

28. Which of the following is called absolute (100%) alcohol ?

https://dl.doubtnut.com/l/_xJHc2WoH3rOD
https://dl.doubtnut.com/l/_9TA65NhW55ks
https://dl.doubtnut.com/l/_kC8M3fp0dsF6


A. Ethene

B. Ethanoic acid

C. Ethanal

D. Gasohol

Answer:

Watch Video Solution

29. When fats are treated with sodium hydroxide, sodium salts the fatty

acids and…….is form ?

A. ester

B. alcohol

C. gasohol

D. glycerol

Answer:

https://dl.doubtnut.com/l/_kC8M3fp0dsF6
https://dl.doubtnut.com/l/_4lCWIIQ662Ee


Watch Video Solution

30. Which of the following gives low concentrated solutions. When it is

put in water ?

A. micelle

B. soap

C. alcohol

D. ester

Answer:

Watch Video Solution

31. Which of the following are the compounds of carbon and hydrogen ?

A. Hydrocarbons

B. Alkanes

https://dl.doubtnut.com/l/_4lCWIIQ662Ee
https://dl.doubtnut.com/l/_GBetmB2PBsKv
https://dl.doubtnut.com/l/_qroKyO179Oud


C. Alkynes

D. Alkenes

Answer:

Watch Video Solution

32. Which of the following is the formula of palmtic acid ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C15H31COOH

C17H35COOH

C17H33COOH

C6H12 _ O6

https://dl.doubtnut.com/l/_qroKyO179Oud
https://dl.doubtnut.com/l/_jjKD7UIMGDUk


33. COOH is the formula of

A. Palmitic acid

B. Stearic acid

C. Oleic acid

D. Soap

Answer:

Watch Video Solution

C17H35

34. Which of the following is the formula of oleic acid ?

A. 

B. 

C. 

D. 

C15H31COOH

C17H35COOH

C17H33COOH

CH3COOH

https://dl.doubtnut.com/l/_iwPui97QWitI
https://dl.doubtnut.com/l/_w8jQs7KKAY0L


Answer:

Watch Video Solution

35. Carbon and its compounds burn in presence of oxygen air to give

A. 

B. heat

C. light

D. all

Answer:

Watch Video Solution

CO2

36. Which of the following contribute to the flavours and fragrances of

fruits and flowers ?

https://dl.doubtnut.com/l/_w8jQs7KKAY0L
https://dl.doubtnut.com/l/_uMqgXdmFqkl1
https://dl.doubtnut.com/l/_RRYWuLXwoMCc


A. Ethers

B. Esters

C. Ketones

D. Nitriles

Answer:

Watch Video Solution

37. The self linking property of carbon is called

A. fermentation

B. catenation

C. esterification

D. saponification

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_RRYWuLXwoMCc
https://dl.doubtnut.com/l/_3rBtwMORCPh8


38. Which of the following is the formula of Ammonium cynate ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

NH4CO

NH4CN

NH4CNO

NH3CNO

39. When Ethanoic acid is added to a solution of substance X, a colourless

and odourless gas Y is liberated. The gas Y turns lime-water milky. The

substance X is ____

A. 

B. NaOH

NaHCO3

https://dl.doubtnut.com/l/_3rBtwMORCPh8
https://dl.doubtnut.com/l/_DSoFJ8Uc8QI4
https://dl.doubtnut.com/l/_PoWCxPZVtEug


C. 

D. NaCl

Answer:

Watch Video Solution

CH3COONa

40. Soaps do not create water pollution because _____

A. Soaps are insoluble in water

B. Soaps are soluble in water

C. Soaps are 100% bio-degradable

D. Soaps are non-biodegradable

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_PoWCxPZVtEug
https://dl.doubtnut.com/l/_P0FPGkseqJ6z


41. What percent of acetic acid is present in the vinegar that is used to

preserve pickles ?

A. 5 - 8

B. 10 - 15

C. 100

D. 50

Answer:

Watch Video Solution

42. Which of the following compound is not a hydrocarbon ?

A. 

B. 

C. 

D. 

R − CH3

RCH = CH3

RCH2OH

CH3CH = CH2

https://dl.doubtnut.com/l/_lpRh4suxsGlK
https://dl.doubtnut.com/l/_QRwh0IQO43IB


Answer:

Watch Video Solution

43. A few drops of ethanoic acid were added to solid sodium carbonate.

The possible results of the reactions are

A. A hissing sound was evolved

B. Brown fumes evolved

C. Brisk effervescence occurred

D. A pungent smelling gas evolved

Answer:

Watch Video Solution

44. In integrated circuit…………are used instead of copper to components

together Model Paper Issued by AP Board, 2016

https://dl.doubtnut.com/l/_QRwh0IQO43IB
https://dl.doubtnut.com/l/_8GQBqdKcaTqb
https://dl.doubtnut.com/l/_EChp75GqJklI


A. Graphite

B. 

C. Nano tube

D. PVC

Answer:

Watch Video Solution

C60

45. The bond angle in HCH in the Methane molecule in

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

180∘

120∘

109∘ 28

90∘

https://dl.doubtnut.com/l/_EChp75GqJklI
https://dl.doubtnut.com/l/_a4lWRdz4rWfC


46. The number of sigma and pi bonds present in ethyne is

A. 2,3

B. 5,1

C. 1,5

D. 3,2

Answer:

Watch Video Solution

47. Soaps are

A. Calcium salts of acids

B. Sodium or potassium salts of long chain fatty acids

C. Magnesium salts of acids

https://dl.doubtnut.com/l/_a4lWRdz4rWfC
https://dl.doubtnut.com/l/_fWHWfhlQ0ahT
https://dl.doubtnut.com/l/_UetRbqmXb07R


D. Salts of bases

Answer:

Watch Video Solution

48. They by-product of soap is

A. Glycerol

B. Isoprene

C. Butene

D. Ethylene glycol

Answer:

Watch Video Solution

49. Give the IUPAC name is HCOOH

https://dl.doubtnut.com/l/_UetRbqmXb07R
https://dl.doubtnut.com/l/_zy0imu2JBnp3
https://dl.doubtnut.com/l/_fTEXJ9Y9ijLk


A. Propanoic acid

B. Methanoic acid

C. Butanoic acid

D. Ethanoic acid

Answer:

Watch Video Solution

50.  is in……………colour.

A. Purple

B. Yellow

C. Orange

D. Green

Answer:

Watch Video Solution

KMnO4

https://dl.doubtnut.com/l/_fTEXJ9Y9ijLk
https://dl.doubtnut.com/l/_tVDObl4Fqm0B


51. Which process is involved in dirt cleaning ?

A. Oxidation

B. Reduction

C. Emulsification

D. saponification

Answer:

Watch Video Solution

52. Main constituent of biogas is

A. Butane

B. Ethane

C. Propane

https://dl.doubtnut.com/l/_tVDObl4Fqm0B
https://dl.doubtnut.com/l/_AWrcPdbxd2Ia
https://dl.doubtnut.com/l/_6nCsxRMTuksv


D. Methane

Answer:

Watch Video Solution

53.  is commonly known as

A. Lauric acid

B. Stearic acid

C. Oleic acid

D. Palmitic acid

Answer:

Watch Video Solution

C15H31COOH

54. Which of the following molecular formula belongs to alkyne family ?

https://dl.doubtnut.com/l/_6nCsxRMTuksv
https://dl.doubtnut.com/l/_bpXXGAaW9PFy
https://dl.doubtnut.com/l/_PqL7Tctu1pAJ


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C3H6

C4H8

C3H4

C3H8

55. The correct IUPAC name of compound with molecular formula

 is

A. 2,2-Dimethyl propane

B. Pentane

C. Neopentane

D. 1,1,1-Trimethyl lethane

Answer:

(CH3)3CH3

https://dl.doubtnut.com/l/_PqL7Tctu1pAJ
https://dl.doubtnut.com/l/_aypUj9FKmVtQ


Watch Video Solution

56. Which of the following can be used for the denaturation of ethyl

alcohol ?

A. Pyridine

B. Copper sulphate

C. Methyl alcohol

D. All

Answer:

Watch Video Solution

57. The soap molecule has……….

A. hydrophilic head and a hydrophobic tail

B. hydrophobic head and a hydrophillic tail

https://dl.doubtnut.com/l/_aypUj9FKmVtQ
https://dl.doubtnut.com/l/_980XpNtN1pUo
https://dl.doubtnut.com/l/_YC2YVt6KKIkX


C. hydrophobic head an a hydrophobic tail

D. hydrophilic head and a hydrophilic tail

Answer:

Watch Video Solution

58. In the preparation of soap…..is used as solvent

A. Alkali

B. Acetone

C. Alcohol

D. Aldehyde

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_YC2YVt6KKIkX
https://dl.doubtnut.com/l/_haDuqBhyBVN5


59. Dehydration of ethyl alochol to ethylene is carried by heating with

A. Concentrated 

B. Acidified  solution

C. Concentrated 

D. Alkaline  solution

Answer:

Watch Video Solution

H2SO4at200K

KMnO4

H2SO4at443K

KMnO4

60. An ester has

A. odour less smell

B. pungent smell

C. rotten egg smell

D. pleasant fruit smell

https://dl.doubtnut.com/l/_ujBfmOzyPyff
https://dl.doubtnut.com/l/_dNvHGnLflvlL


Answer:

Watch Video Solution

61. A student takes about 2ml of ethanoic acid in a test tube and adds a

pinch of  to it. He reports the following.


Immediately a colourless and odourless gas evolves with a brisk

effervescene.

The gas turns lime water milky

The gas burns with an explosion when a burning splinter is brought near

it

The gas extinguishes the burning splinter.

A. I,iiand iv

B. I,iii and iv

C. ii,iii and iv

D. I,ii and iii

NaHCO3

https://dl.doubtnut.com/l/_dNvHGnLflvlL
https://dl.doubtnut.com/l/_EQIO2N4Ae2Ap


Answer:

Watch Video Solution

62. Alcohols can be produced by the hydration of

A. Alkynes

B. Alkenes

C. Alkanes

D. Acids

Answer:

Watch Video Solution

63. In order to show branching, an organic compound must have a

minimum of

https://dl.doubtnut.com/l/_EQIO2N4Ae2Ap
https://dl.doubtnut.com/l/_Sa5iNRBwBGgH
https://dl.doubtnut.com/l/_AW0NYTLzwp0M


A. Three carbon atoms

B. Four carbon atoms

C. Five carbon atoms

D. Six carbon atoms

Answer:

Watch Video Solution

64. Soaps are formed by the saponification of

A. Alcohols

B. Simple esters

C. Carboxylic acids

D. Giycerides

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_AW0NYTLzwp0M
https://dl.doubtnut.com/l/_19edefNr4rhf


65. Acid + Alcohol

A. Ketone

B. Soap

C. Ester

D. Aldehyde

Answer:

Watch Video Solution

66. ……….end of soap bonds with dirt.

A. Hydrophilic only

B. Hydrophobic only

C. Both A and B

https://dl.doubtnut.com/l/_19edefNr4rhf
https://dl.doubtnut.com/l/_6wliR7O9mW0a
https://dl.doubtnut.com/l/_xRNPklueWuMj


D. None

Answer:

Watch Video Solution

67. Which one of the following statemens is not correct ?

A. Acetic acid is highly soluble in water

B. Acetic acid turns red litmus blue but it does not effect blue litmus.

C. Acetic acid is a weak acid and it ionizes partially

D. Acetic acids reacts with  to form colourless and odourless

gas.

Answer:

Watch Video Solution

NaHCO3

https://dl.doubtnut.com/l/_xRNPklueWuMj
https://dl.doubtnut.com/l/_WHL30zxHhClk


68. Soap micelles in water will not come together to precipitate because

of

A. Electro positivity of micelles

B. Electro negativity of micelles

C. lon-lon attraction between micelles

D. Ion-Ion repulsion between micelles

Answer:

Watch Video Solution

69. A spherical aggregate of soap molecule in water is called.

A. Hydrophilic end

B. Hydropholic end

C. Miscelle

D. Cation

https://dl.doubtnut.com/l/_xrfCOENSlnDe
https://dl.doubtnut.com/l/_6ELWlwwVTrPE


Answer:

Watch Video Solution

70. .This is……type of

reaction.

A. reduction

B. oxidation

C. combustion

D. addition

Answer:

Watch Video Solution

2C2H6 + 7O2 → 4CO2 + 6H2O + e ≠ rgy

71. Which of the following represents the correct increasing order of

unsatured carbon ?

https://dl.doubtnut.com/l/_6ELWlwwVTrPE
https://dl.doubtnut.com/l/_MwQOqlPHlRNY
https://dl.doubtnut.com/l/_GlGcYX0lQACV


A. Alkynes, Alkanes, Alkenes

B. Alkanes, Alkynes, Alkenes

C. Alkenes, Alkynes, Alkanes

D. Alkanes, Alkenes, Alkynes

Answer:

Watch Video Solution

72. Bad conductor of electricity is

A. Graphite

B. Graphen

C. Diamond

D. Nanotube

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_GlGcYX0lQACV
https://dl.doubtnut.com/l/_zdjDdYY8IugZ


73.  hybridization is found in

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sp3

CH4

C2H2

C2H4

C2H6

74. Draw the structure of:3-amino-2-bromo hexan-1-Ol

A. 

B. `overset(OH)overset(|)(CH_2)-underset(Br)underset(|)(CH)-CH-CH-

underset(NH_2)underset(|)(CH_2)-CH_2-CH_3

CH3 − CH2 − CH2 − CH
∣

NH2

−
∣

Br

(CH) −

OH

∣

CH2

https://dl.doubtnut.com/l/_zdjDdYY8IugZ
https://dl.doubtnut.com/l/_UU9Dc2v0R5bJ
https://dl.doubtnut.com/l/_vEg3mFfAJ3aG


C. 

D. None

Answer:

Watch Video Solution

CH3 − CH
∣

Br

− CH2 − CH
∣

NH2

− CH2 −

OH

∣

CH2

75. Glycerol is……………

A. 

B. 

C. 

D. 

Answer:

CH2OH
∣

CHOH
∣

CH2

CH2OH
∣

CH2OH

∣

CHOH

C17H35COONa

CH2OH
∣

CHOH
∣

CH2OH

https://dl.doubtnut.com/l/_vEg3mFfAJ3aG
https://dl.doubtnut.com/l/_0ieb0EDVKPty


Watch Video Solution

76. Which of the following is a good conductor of heat and electricity?

A. Anthracite

B. Charcoal

C. Diamond

D. Graphite

Answer:

Watch Video Solution

77. Which of the following is alkane?

A. 

B. 

C. 

C4H10

C4 − H8

C4H6

https://dl.doubtnut.com/l/_0ieb0EDVKPty
https://dl.doubtnut.com/l/_mRk5n9JXs5Ia
https://dl.doubtnut.com/l/_3G9FiNRDLR3E


D. 

Answer:

Watch Video Solution

C6H6

78. The functional group of Ketones is ____

A. - OH

B. - CHO

C. - O -

D. 

Answer:

Watch Video Solution

79. The functional group present in ethers is

https://dl.doubtnut.com/l/_3G9FiNRDLR3E
https://dl.doubtnut.com/l/_e4ddOsH66DP2
https://dl.doubtnut.com/l/_hjPFcA0eYz4F


A. 

B. - C - OH

C. C - O - C

D. - COOH

Answer:

Watch Video Solution

80. has arranged by _______pentagons and _______hexagons.

A. 20,12

B. 12,20

C. 21,20

D. 12,01

Answer:

Watch Video Solution

C60

https://dl.doubtnut.com/l/_hjPFcA0eYz4F
https://dl.doubtnut.com/l/_BRB6SXmtPDOp


81. What is about energy and properties of newly formed orbitals ?

Watch Video Solution

82. Who introduced the concept of hybridisation ?

Watch Video Solution

83. How many types of hybridizations are there ? Either one or many ?

Watch Video Solution

84. Among which type of orbitals, redistribution takes place ?

Watch Video Solution

https://dl.doubtnut.com/l/_BRB6SXmtPDOp
https://dl.doubtnut.com/l/_nLQJBhzTh7IL
https://dl.doubtnut.com/l/_w8d1SsiRvRIg
https://dl.doubtnut.com/l/_ZWQKZdPpphxv
https://dl.doubtnut.com/l/_O1WKRAHLK7RH


85. Which type of hybridisation is there in graphite ?

Watch Video Solution

86. Why do we use graphite in pencils for writing ?

Watch Video Solution

87. How is it possible to use graphite in electricity ?

Watch Video Solution

88. We can break the layers of graphite easily - Why ?

Watch Video Solution

89. How many categories that hydrocarbons classified into ?

https://dl.doubtnut.com/l/_nXpA4jzNU5Pe
https://dl.doubtnut.com/l/_xis87CCh20b4
https://dl.doubtnut.com/l/_y07jVXL1XoMm
https://dl.doubtnut.com/l/_RU4KNtKitr3W
https://dl.doubtnut.com/l/_fkdfh3BDlY2N


Watch Video Solution

90. According to bond formation, how types of hydrocarbons are there ?

Watch Video Solution

91. Which hydrocarbons are called as alkanes ?

Watch Video Solution

92. Do straight chain compound and branched chain compound have

similar properties ?

Watch Video Solution

93. Write any four properties of carbon and explain.

Watch Video Solution

https://dl.doubtnut.com/l/_fkdfh3BDlY2N
https://dl.doubtnut.com/l/_I3UDj1BIpFtg
https://dl.doubtnut.com/l/_Kq0gZur8TIOA
https://dl.doubtnut.com/l/_Yew6yBQFrQ4c
https://dl.doubtnut.com/l/_nq8KNETcTrO3


94. Which allotropes are used as good conductors ? Why ?

Watch Video Solution

95. `2HC = CH - CH2-CH2- CH3. Write a few sentences about this compound.

Watch Video Solution

96. How do you say combustion is an oxidation process ? Give an example.

Watch Video Solution

97. Acetic acid is

A. A weaker acid than HCl

B. A stronger acid than HCl

https://dl.doubtnut.com/l/_nq8KNETcTrO3
https://dl.doubtnut.com/l/_XJezKdiNUyOT
https://dl.doubtnut.com/l/_7KAzv7kgqkJl
https://dl.doubtnut.com/l/_Gya9kQ6MGPbj
https://dl.doubtnut.com/l/_P6TC05NnsxiK


C. A stronger acid than 

D. A stronger acid than 

Answer:

Watch Video Solution

HNO3

H2SO4

98. The nature of second grade functional groups is given by

A. Primary prefix

B. Secondary prefix

C. Primary suffic

D. Secondary suffic

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_P6TC05NnsxiK
https://dl.doubtnut.com/l/_X27dfv5vWNgn


99. Identify the alkanes given below.

A. iv

B. I,ii

C. I,ii,iii

D. ii,iv

Answer:

Watch Video Solution

C5H12, CH4, C3H8, C2H4

100. Identify the alkenes given below.

C_2H_4

CH_4

C_3H_6

C_4H_8`

https://dl.doubtnut.com/l/_wBmiOQ2qxpUj
https://dl.doubtnut.com/l/_ieAVC2T0Dgfc


A. ii

B. I,iii

C. ii,iii

D. I,iv,iii

Answer:

Watch Video Solution

101. Conversion of ethyl alcohol into Acetic acid is

A. combusion

B. oxidation

C. addition

D. substitution

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ieAVC2T0Dgfc
https://dl.doubtnut.com/l/_njNkJo3TI66j


102. Which of the following are aldehydes ?

CH_3CHO







A. I,ii

B. ii,iii,iv

C. I,ii,iii

D. I,ii,iv

Answer:

Watch Video Solution

C6H5 −

O

∣ ∣

− C − H

CH3 −

O

∣ ∣

C − CH3

CH3 − CH2 − CH2 −

O

∣ ∣

C − H

https://dl.doubtnut.com/l/_njNkJo3TI66j
https://dl.doubtnut.com/l/_jQmcUDFttFBv


103. Which of the following are compounds ?

Sugar

Common salt

Diamond

Plaster of Paris

A. I,ii

B. I,ii,iv

C. ii,iii,iv

D. I,ii,iii,iv

Answer:

Watch Video Solution

104. Unsaturated compound undergoes

A. Combustion

https://dl.doubtnut.com/l/_bhYRbd1dHUeZ
https://dl.doubtnut.com/l/_C3SJJs2XNeIp


B. Oxidation

C. Addition

D. Substitution

Answer:

Watch Video Solution

105. Vegetable oils contains

A. saturated long chain fatty acid

B. saturated long chain alcohols

C. unsaturated long chain fatty acid

D. unsaturated long chain alcohols

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_C3SJJs2XNeIp
https://dl.doubtnut.com/l/_GMccXF7gN0ub
https://dl.doubtnut.com/l/_Nn6JJgBYIE1B


106. Gasohol is a mixture of

A. Alcohol + ether

B. Alcohol + water

C. Alcohol + gasoline

D. Alcohol + kerosene

Answer:

Watch Video Solution

107. The IUPAC name of 

A. Ethylene glycol

B. 1,2 -dihydroxy ethane

C. Ethane - 1, 2 -di ol

D. All are correct

OH

∣

CH2 −

OH

∣

CH2

https://dl.doubtnut.com/l/_Nn6JJgBYIE1B
https://dl.doubtnut.com/l/_Pq9nrE6ydIog


Answer:

Watch Video Solution

108. IUPAC name of 

is

A. 1 - hydroxy - heptan - 6 -one

B. 2 - oxo heptanol

C. 7 - hydroxy heptan - 2- one

D. 7 - hydroxy hepta ketone

Answer:

Watch Video Solution

CH −

O

∣ ∣

C − CH2 − CH2 − CH2 − CH2 − CH2OH

109. Which of the following scientist disproved vital force theory?

https://dl.doubtnut.com/l/_Pq9nrE6ydIog
https://dl.doubtnut.com/l/_234ar4WVs1JY
https://dl.doubtnut.com/l/_t2Di1PiRZh1T


A. Berzelius

B. Wurtz

C. Wohler

D. Kolbe

Answer:

Watch Video Solution

110. Hybridisation and bond angle in ethane is

A. 

B. 

C. sp,180

D. `sp3,109^28'

Answer:

Watch Video Solution

SP 3, 120∘

sp2, 120∘

https://dl.doubtnut.com/l/_t2Di1PiRZh1T
https://dl.doubtnut.com/l/_t1bXG70Vk3yj


111. Write a few sentences about sp hybridisation ?

Watch Video Solution

112. How do  - bonds are formed ? How many  - bonds are there in sp

hydridisation ?

Watch Video Solution

π π

113. Explain any two properties of carbon.

Watch Video Solution

114. Write the name of an alkyne ? What is its general formula ?

Watch Video Solution

https://dl.doubtnut.com/l/_t1bXG70Vk3yj
https://dl.doubtnut.com/l/_DnYpjNKH7rX7
https://dl.doubtnut.com/l/_sFyPZNmntykE
https://dl.doubtnut.com/l/_LZ8OAS9hQ0F5
https://dl.doubtnut.com/l/_Y0Qr4QNqpbnl



